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2@ (English)

Select the correct word to complete the sentences
(questions 1-5).

The dress was designed by —— famous Italian
artist.

A.a B. the

C.an D. one

It is the city of the country.

A. most populous B. more populous

C. most people D. most population
Who says that you can go the world in
eighty days?

A. over B. around

C. across D. beyond

to Barishal by bus yesterday?

A. Did Jashim went B. Had Jashim go

C. Was Jashim go D. Did Jashim go

Warning! No unauthorized personnel

this point.
A. about B. beyond
C. here D. then

Read the following passage and answer the
questions 6-10.

Money is not only coins and banknotes, It is
anything that people are willing to use in order to
represent the value of other things for the
purpose of exchanging goods and services.
Money enables people to compare quickly and
easily the value of different commodities (such as
fish and shoes), to exchange one thing for
another, and to store wealth conveniently. There
have been many types of money. The most
famihar is the coin, which is a standardized piece
of imprinted metal. Yet money existed long
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before the imvention of coins, and cultures have
prospered using things as currency, such as
cowries, cattle, skins, salt, grains, beads, cloth
and promissory notes. In modern prisons,
cigarettes have often served as money.

Nowadays people do not have to carry money
when they go for shopping, the can use debit or
cash cards. These cards are also called plastic
money.

What is the passage about?

A. The history of money in human society

B. How money changes society

C. How coins came into existence

D. The importance of plastic money

What was the most well-known form of money in

the past?
A. Cowrles B. Computer bits
C. Coins D. Stone

How does the passage define money?

A. Anything that is used to represent the value of
something and used for the purpose of exchange of
goods and services.

B. Cowries and coins are used for the purpose of
exchange of foods and services.

C. Something that is only used to store wealth.

D. A standardized piece of imprinted metal.
According to the passage........

A. debit or cash cards were early forms of money.

B. debit and cash cards have always been there.

C. debit and cash cards are newer forms of money.
D. debit and cash cards are money only in our
imagination.

The passage suggests that.......

A. coins existed long before the invention of money.
B. cowries were never counted as money.

C. in ancient times, cigarettes were used as money.
D. coins followed the invention of money.

Choose the correct sentence.

A. The raillway will compensate us with the loss.

B. The railway will compensate us for the loss.

C. The railway will compensate us the loss.

D. The railway will compensate us loser.

The correct synonym of ‘mediocre’ 1s—

A. average B. industrious

C. ordinary D. better

What is the meaning of the proverb ‘Do not put
the cart before the horse”?

A. Put the horse behind the cart.

B. Do not follow any order when you do things.

C. A cart cannot move without a horse.

D. Do things in proper order.

The correct antonym of ‘spurious’ 1s—

A. cautious B. fantastic

C. modest D. genuine

Provide the appropriate preposition (questions 15-16).
Tina is renowned her oratory.

A. with B. of C.in D. for
He was not conversant the plan.
A. of B. to C.with D.in

Answer: 1.A2A 3B4D5B6.A7.A8A090C
10D 11.B12.A13.D 14D 15D 16.C

FAHRAY W [General Knowledge]
TSRIANMG FAATSSF [Rpe &5 4@ Fmg &= @i
el Fr? [Which of the following countries is
assisting the Matarbari coal-fired power plant
project?]
A. w9« [Japan] B. frr7a [Singapore]

C. st [Germany] D. v c@ifaa [South Korea]
iEH AewEl (@F wHme w@Ee? [Which continent
are the Alps Mountains located in?]

A. SIS [Africa]

B. «f*at [Asia]

C. 2%+ [Europe]

D. i S [South Americal

e (A PEw Fw IRE [eiE @i
24w Wi F5? [What is the main demand of the
Rohingyas with regard to their return from
Bangladesh to Myanmar?]

A. =isifaag [Citizenship]

B. si=ataa f=ai#et [Safety of lives and properties]

C. sicrzeyia fasia [Trial for genocide]

D. 9%31f§ ##fR4 [Reconstruction of homes]

e craetals W (AT FFEts I 99 w5 ST
TIOI G T TWEF Wi AER @FE S
7% m z@re=? [The 2018 Nobel Peace Prize
was awarded to Denis Mukwege and Nadia

Murad for their efforts to work against ]
A. A g4l [Slavery]

B. 1 fedffe= [Child abuse]
C. 999 “iofq [Human trafficking]
D. I&E ZEe @9 AReTet (Sexual violence as a

weapon of war]

fawn el IEmer wreE wwE G|’ dwlE @
4tF? |Which of the following offers ‘National
Emergency Service’ in Bangladesh?]

A. 53 [911] B. 233 [222]

C. &35 [999] D. 355 [111]

‘@Tm" F1? [What is ‘Intifada’?]

A. 999 f9ee94 [Arab mass uprising]

B. Tw@El wiemisegs Rete fefafefoe adetsiad

(Mass uprising of the Palestininas against Israeli

occupation]
C. Fifaarg wism-faaidt 3% (Anti-Assad War in Syria]

D. St fe-feai = [Anti-US War in Afghanistan]
JREAAC AR Wi (PRI S 205 7itx? [A submarine
base in Bangladesh is going to be built in-]

A. <pT4E [Patuakhali] B. I&=iE [Barishal]

C. raEl [Noakhali] D. sares [Cox’s Bazar]
FILAACR 9Faa ‘o1gre’ -2 Fet- (The only hilly
island of Bangladesh is-)

A. #zr%#7 (Paharpur) B. Foamai (Kutubdia)

C. g (Nijhum Dwip) D. wtz=ifet (Moheshkhali)
TR 4TS IR T (T AEAST TCETd AW ?
(Which political party does the British Prime
Minister Boris Johnson belong to?)

A_ & #iif6 (Green Party)

B. tewit@Be (19| A6 (Democratic Labor Party)

C. 2o =irieiet #iif6 (English National Party)

D. seiareive #if6 (Conservative Party)
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FETACR Iegraa ¢oF e vaftea 41t IR (T991-9a=

AfFeE= & m=? (Who was the direcor of Dhire

Bohe Meghna, a film on the Liberation War of

Bangladesh?)

A. sereia @fqq (Alamgir Kabir)

B. 4« wrereq =9 (Khan Ataur Rahman)

C. g wiztamw (Humayun Ahmed)

D. =g w8 (Subhash Dutta)

Soo¢ HAIE IASAR AT S (F fgEw? (Who was the

Viceroy during the Partition of Bengal in 1905?)

A. =16 zgs (Lord Clive)

B. @¢ gfemifert (Lord Cornwallis)

C. =€ @1e+ (Lord Curzon)

D. =% qfe 591+ (Lord Mountbatten)

2035-30 WIRCH FIFTT FHFER WrEH INEOT WS

Z@-(The size of the national budget of Bangladesh

government for the Fiscal Year 2019-20 is-)

A. ¢,39 550 &I 51 (TK 5,23,190 crore)

B. 8,239,550 &I 61t (TK 4,23,190 crore)

C. v,99,b%0 6 513t (TK 3,77,810 crore)

D. v,3¢,vvo & 51 (TK 3,25,660 crore)

ewiq F3- (The University of Dhaka conferred

poet Kazi Nazrul Islam D.itt degree in-)

AL 589 A (1972) B. 599 AKA (1973)

C. 3548 7t (1974) D. Y59y A= (1978)

THI AGAIRD-Y’ F@ Terwdd At @? (When was

the 'Bangabandhu Satellite-1' launched?)

A. 29 T4 20349 (23 June 2017)

B. a @& 205v (17 May 2018)

C. 55 @ w0db (11 May 2018)

D. 39 916 2655 (17 March 2019)

51t (3 (@Ai3A6? (Why is Dhaka a megacity?)

A. wrejfga weedna e+ (For over-population)

B. wreifie gz baibeeR &= (For excessive transports)

C. #{fata=isie warea &+ (For environmental pollution)

D. Soif4s wEE-@eEd &0 (For too many buildings

and other installations)

IR QY A @R &7 (Who is the first

woman mayor in Bangladesh?)

A. it zrare wiigfe (Selina Hayat Ivy)

B. ttz3 s pae (Meher Afroz Chumki)

C. it =19 (Panna Kaisar)

D. F3<t samE (Kabori Sarwar)

20.99.%1.9%5. 2. 5?7 (What is UNCHE?)

A. TEARWT G DI W Wl RSN qHeRReas
(United Nations Conference on the Human Environment)

B. 20T (T I o Wi fRSwH e (United
Nations Conference on the Human Ecology)

C. SCA20T T ITIET S W DIR0E  JTSERAES
(United Nations Conference on the Habitat Environment)

D. 3TAE0T G STEEA 9 vl ZIEos 23 (United
Nations Conference on the Habitat Ecology)

HIFGTITR (FIH X MG IRNGT TFHFT Fa1 TER?

(Which of the following United Nations organs’

operation has been made non-functional?)

A. Fig=d ifqaw (General Assembly)

19.

20.

21.

22

23

24.

25.

B. wiwgwifes [{o@E (International Court of Justice)
C. faeiet #feaw (Security Council)

D. wif% 7@ (Trusteeship Council)

= Rawe fv@ ‘# 1§ wiewew'-5 9455 23? (Which has
been the issue behind the '#Me Too Movement'?)

A. 1= ferdres (Child abuse)

B. #if4ta= v (Environmental pollution)

C. dift == (Animal abuse)

D. @i zz&i (Sexual harassment)

wEH w97 [ 799 491 @Ernd SIAW ToAEe?
(Which of the following is related to the
elimination of discrimination against women?)

A. 289 (UNFPA)

B. sf@®9grs (WHO)

C. 28y 83w+ (UN Women)

D. fitst (CEDAW)

) T WiHlHF “IFEma saeaa =9 27 (Who
is the Chairman of the Chittagong Hill Tracts
Regional Councial?)

A. 99 33 (Bir Bahadur)

B. 99 @ =«w (MLN. Larma)

C. marg 919 (Debashish Roy)

D. teuifeley caifaia =nswi (Jyotirindra Bodhipriya Larma)
QEIEHAE 8 FMFHSER J647 1147 F? (What is the

difference between high commissioner and
ambassador?)

A dUNE FMCEELDE dAga dfeffy @ woaEA
FygEEd  dizxge  w@w  dfefs (The former

represents Commonwealth states and the latter
non-Commonwealth states)

B. d¥wms oA AEe dfefaly ¢ woimems « i @
wips@ dfefafa (The former represents European
states and the latter Asian and African states)

C. oweH FoAifed 8 oige qied afsffd (The former is
a diplomat and the latter a representative of a state)

D. it #1143 @2 (There is no difference)

T P -9 FAfeT AqR{RrFesn Jadre 2w?

(What is the 1ssue that has led to the recent mass

protest in Hong Kong?)

A. &< 951 (Extradition Bill)

B. bI9 (at® =d=ei (Independence from China)

C. /=¥ (Democracy)

D. sty “fs@e (Climate change)

T2fe TP M dfswifem IeameE @ it

T*m< fersrz=? (In which competition has Ruman

Shana of Bangladesh won the gold medal?)

A =i 9318 =19 (Archery World Cup)

B. wivifa st (Archery Olympic)

C. «f*m =i9 =ivifa (Asia Cup Archery)

D. == wfsif*i= (The World Oyympic)

53 &A% spreadsheet-93 @36 F==? (Which of

the following is a function of spreadsheet?)

A. SEIARW &3 (Browsing a website)

B. =1 ¢ 973 far=re (Analyzing income and expenditure)

C. fefGg foa (vi (Watching a video)

D. 3-ugs ge% ¢4iE (Opening an e-mail account) ~
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26. I R@ARIGT W% T R A% I, ¢¢% Ta A g
IE GR 80% T TSAM 1™ IR | TS ISR T (FANR
°gw @ 97 (In a hostel, 65% students like fish,
55% vegetables, and 40% both fish and vegetables.
What percentage of the students like none?)

A.9¢% (35%) B. 8¢% (45%)
C. ¥ 0% (60%) D. 20% (20%)

27. 2ifs R I RS &% I 6?7 (Which one

is the correct spelling recently adopted by the

government?)
A. Chattogram B. Cittagong
C. Chotogramm D. Chitagong

28. 67 9 (IS Wigte I weee w17 (Which
of the following countries does not belong to the
Amazon forest?)

A. 3if&= (Brazil) B. %% (Perun)

C. wite o1 (Argentina)  D. 3fafew (Bolivia)
Answer : 1A2C 3A4DS5C6.B7.D 8D 9D 10.A
11.C 12.A 13.C 14.C 15.A 16.A 17.A 18D 19.D 20.D
21.D22.A23.A24 C25B 26.D27.A28.C

RS == (Ro>5-20)
R
Y1 Toea Sreenit e wEEm ¥ (30)

What's more, it recognizes that we Rohingya are not
alone. Many other ethnic groups in Myanman-
including the Kachin, the Shan, the Karen-endure
shocking violence at the hands of the armed forces
of the central government. The United Nations
concludes: The Myanmar military, the force behind
this vicious cycle of murderous abuse, must be
brought to account. We must end decades of
impunity for some of the worst crimes known to
humanity in recent years.

Tez: WAl wine g Ot Higfe qva @, wwEt @i
G 73 | AR Wi SEe wiferiBl- @b, =i,
INEE (AT AIIEE I qARAG 0o ==y
ARGTS! AR | wifenags Praite SEEwE  EiqiEar
ToNaIEd Mo 2 5ied e @ *ife aae oS
iR A6 WAe 2@ | e qedafTs I=aeF
IR g U SN W SR SES T
VARSI S 90100 Z(A |

3| feeea vfere Sifew stwigi® ow w3 o (@)

TE-ZAma INESEE TGl S @ f[geed T
TfITerg | *IS, FAAFAT, EA, (Mides 290 qeims
VI O 200 | @Y I ©F A, YOrIeraeid 19 1ot
FIFalsie I ORIMa SABSTS! FHFAT | Ol (N e
8 &ibe A I FaC° & R, (o0 PR W)
FYrEY AL BIAEAS WEFe! (MRl AW | TEIS UG 79 T
5 pady@ TR AR W Qfewe Agw I TS
API2CS T |

T TR | A, FACIRAN, MEAE, (TG 2
JEAAS (VR T4 T0R | BY A T 73, TerIeraed
1 5160 WIS [ ©Iime Seree! A | o]
@ @E 8 woa PR [ FA0e O FF, (SR
TR WYY T FGRA FIATERS wows] (Al T |
I®S; YK 98 T 09 TIeRE@ @ed ik 71
JIfoTs AYT IA T PO 2 |

9 | Translate the following paragraph into English (3)
T WA TG IS TGS 2 | oM W T GiEE @ |
TS FRAETSE T TS T AR S fofF TRTS IRrew | W T
T T (FC T3 IF W AR @ vives | B g=0e, "= @t
T, S 5T 10 TEE (SWE IREE6128 WA AR |

Answer: Mom was my biggest critic.She used to
attend all my seminars. She could understand
even 1f I could not speak fluently. She used to
make me careful when someone got hurt in my
work or words. She used to say 'remember
mother, men will only mind your behavior after
your leaving'.

81 Write a paragraph on the political leadership of the

Father of the Nation Bangabandhu Sheikh Mujibur
Rahman in ten (10) sentences. (10)

Answer: Sheikh Mujibur Rahman was a Bangladeshi
politician and statesman. He 1s often called the
father of Bengali nation. He 1s popularly dubbed
with the title of "Bangabandhu”. He served as the
first President of Bangladesh. He was an advocate
of democracy and socialism. Mujib rose to the
ranks of the Awami League and East Pakistanmi
politics. He was a charismatic and forceful orator.

Mujib announced independence of Bangladesh _on
26 March 1971. After Bangladesh's independence,

Mujib was released from Pakistani custody due to
international pressure. He returned to Dhaka on 10
January 1972 after a short visit to Britain and India.

e weie (Reraesd)
¢ (FEES 8 WINwR e -FEE W (do) I «F o
wauew @4 | (Write a paragraph on ‘Facebook
and our society’ in ten (10) sentences.] (30)

Tad:

FF WHNHd ANER & (ENE WEEW (SNE
Sf&=f7)8 B | YT AW ANGSF @0 9T TG Tl I |
farem sl wrmr T =feww (e T A
AeTel I FAl T FLSNI TS SIH T A |
QR 97 T ¢ IR | (AT 9P ANE [FO-AS(@
@ M v A Fe i @I | 9
gF JRRE AP S AT | AN 46T TR | [
TSR bRC 2 2 IR | (TGS I T IR
(P ANAS IRG AMGLR | ATELS A2, IAGA =
20 A SN rifte =0 W wiERsSt 3% W @ |

v ‘foes o ItEort TEm e (¢) I o wfeTs

w1 [Give your views on ‘Bangladesh in the
cricket world’ in five (5) sentences.] (@)

©ET:

Ay e @t va A s S Wity Witk
o AT | @ THF 9 A I AP WA LA S

wifiw 3 e | eamte 9 fB-Grafors e«

GEoa b @ 7oa | WEFaa a O¥q I

fFIo A AR | Apa WHEw, J-7N S0 I Q@

(Iferg2 ferat vy e S =fe=E $arg |




Tl RYR¥IEH R0od-20>0s 2@ (English)
Read the following passage and answer (questions 1-5)

Y : GF TO1 "1‘f‘-’l‘|7{ 292 Even a few years ago very few people had even heard of
E1EG) the word hIntl;EmEt. P}Ilﬂw dit fw_nuﬂ be dtiffir:ult to find
& = anyone who has not heard of 1it. Many of us use 1t on a
1. TRTOUTH SO IR ReACR! regyular basis, and most of us have gccess to it at our
A AR B, gaEm C. ~ffgewer  D. g+t homes too. The ‘net’ in the Internet stands for network. A
2. wpife faee #tae Roe=el- network is two or more computers connected together so
A. T4 B. *Bb C. % D. %% that information can be shared or sent from one to the
3. IEEE oITEy OGFed (T 2 ‘taiEe” gecs §1 other. The Internet is a vast resource for all types of
FhrcateE? information. You may enjoy using it to do research,
A oAfFsia e B it cemiieaa download your favourite song or communicate with
C. K187/ 419 D. qesia a5 family and friends. It is like a giant bulletin board for the
4 o IH ; et (2 N whole world to see. Since anyone can put anything on the
' A %ﬁ FraEa B : Internet, one must be very careful and use both
: . ¥ QIR judgement and common sense while accessing and usin
C. FFa e D. 91 ¥ SIRAR {ntegrnet sources. © .
5. <1 &g A o | -_{s i @R st (e 1. Today very few people can be found who have
THS ZECR? not heard of :
A. AR MReTEl B &igq @ T A. the Internet B. the network
C. SI99CA (9 T D. sE #i2 , %ﬁnm uterh - D. the la ft_ﬂl??
SR TR wifes || — A ‘ at does the "net’ 1n Internet stand for’
6. ngg =, ! i é Eem;lnrk g Eishing nets
ﬁ- | ) = T . vpee . Lapacity
A. I8 B. C. ﬁﬁ sg® D. 7 3.  What is the Internet a source of 4
7. ORI R IR T AF TR 8717, —TEIA - A. information B. statistics
A. *TSlq B. 9tA4 g T D. == C. art D. culture
8. ‘gfem’ (= ‘4" Wi-AfFEdr & o TEe? 4. 'What are the main purposes of using the Internet?
A w@ife B. sfe=rfe C. Airegs D, w9mie A. Research, entertainment and communication
9. (T To’ Bee(io fEand age? B. Only entertainment
A.T%95  B. SAwal C. %o D. Soud E‘ %ﬂlly research :
R’ =R 2fie Bwie T . Only communication
e A @@ B, @and C "F"ﬁ D. o 5. '\Vhati‘gthe meaning of the word *access’?
ek, e | WRTS g . A.excess B.enter C. boot D.communicate

11. ‘&=’ *itw i (Fio? Choose the best option (questions 6-13):

‘}' @eTiE B Eii 1 C. wier L 6. ‘Over and out’ —what does the phrase mean?
12, ‘coiim A1t 2" —ai5 (1 q151? o A. End of message B. End of story
A. 9] B.©REm; C.F€@0; D, $HF9d0b) C. End of poetry D. End of passage
13. ‘% geaawa RfFE w9 eo? 7. An Ophthalmologist is a doctor of the :
AZT+3 B.2+4 C.2+9 D.9+4 A. bones B. nerves
14. IFETEH SEOENGHE A0S ‘TSP’ 9 iB- C. eyes D. nose and throat
A. ey B_ e -wREr Boe g 8. ‘VeryPrimeval’ means—
C. @fezife oM D aaasl A. Very ancient B. Peak time
15. 0@ I} IORE LI A6 ‘IR e’ Fwe @i C. Most important D. Main example
g Amn s 9. Marrﬁltlig daughters at an Ear}y age is a
A FRRRERA_ B. SRIER AR SBtﬂﬂglafd practice. 1 snany rueal les in
C. e sradi< D. SPid Serdae o
§ A.with  B. off C. of D. to
16. ‘fErarort’ e HRoT 20R- 10. I will stay with you there is a room free.
A. s + @ B. f*et + = A. as much as B. as many as
C. fia + =a! D. g + =i C. as long as D. as important as
17. 063 W I=AG o2 11. Everyone has the right to access to public
A ARG B. AR C.afg  D. *ifaees service in his country. _
18. ‘<FTEgE’ It A Bewlie (i SiEt ZrS WitS? A.unequal B. equal C. stop D. Imited
A TeH B, 94" C.%7 D. & 12. this is a serious issue that deserves further study.
19. oo ¢ fFefeda FweE J I A. Rarely B. Clearly C. Usually D. Promptly
A 4f® B aifeas C. giffesvs D 13. In the essay the student has— about a road trip.
20 wmimm Wﬂﬂiﬁﬁ TR ° e A. written B. memorized C.complained D. posted
| AH ¢S  B.aB T C s D ss% 14. Choose the correct sentence.
r T A ——— ' A. I am committed to pursuing a career in management.
- B 3 — - P2 B. I am committed in pursuing a career in management.
A. B. WF® C. D. #g C. I am commutted for pursuing a career in management.
22, IR RIS A1 JCR- D. I am committed against pursuing a career in management.
A. 339 B. s C. 5535 D. 359 15, The word ‘tormentor’ is i .
23. ‘coite dtem’ wid- A a nm.lljn B. an ad EctI;ve
A. % Tteu B. =ifexw w4 C.aver D. an adver
C. :EE CIEE| D. affsere! #im = = 16. Which of the following words is correctly spelt?
‘ os? 7T SATSTE]- A. Madona B. Malicous
“4; Phwn“Etlts wfafiaats sl - C. Mistic D. Mattress
25 ﬂc;lﬁ‘iﬂﬂﬁ'cgltﬂ?r Same . - 17. The opposite of accidental is .
" A @@ B e i C.ff D. areif A. intentional B. occupational
: . - : C. tional D. chaoti
Answer Kevs: 1B 2.C 3.A 4D 5.C 6C 7B 8B 9D 18. Choose the odd word from word lis
LATSWEL Iabys . Choose the odd word from word list.
10L,A 11.D 12B 13.B 14.C 15.D 16.D 17.C 18B 19.C A. Cvclone B. Earthquake
s 20.B21.D22.C23.D 24B 25.B C. D)Everge D. Tsunami -
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22,
23.

24.
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The synonym of false is .
A. wrong B. right C.bad D. good
Choose the correct preposition (questions 20-22):

We have to deal our problems.

A. with B. after C.on D.by
The solution of the problem dawned me.
A.on B. 1n C.1s D. are
A philosopher ponders the meaning of life.
A.1n B. on C.on D.by
“Tertiary education’ refers to education.

A. School level B. Madrasa level
C. College level D. University level
Conflict may be described as:

A. Harmony B. Homogenous

C. Disagreement D. Homologous
What is the meaning of the idiom ‘pins and
needles’?

A. Uncomfortable feeling in a part of the body
B. Part of a tailor’s sewing kit

C. Uncomfortable wearing new shoes

D. Part of a electrician’s tool kit

Answer Kevs: 1.A2A3A4A5B6B7.CRA9B
[0OC I1.B IE.C 13.A 14 A 15.A 16D 17.A 18.C 19.A

20.A 21.A 22.B 23.D 24.C 25.A
e AR [Bangladesh Affairs]
FENT Aoy THFT (L w1ZS? [Where is the

oldest urban centre of Bangla located?]

A. T3St [Mainamati]

B. fa@w+@ [Vikramapura]

C. 1zrg=+® [Mahasthangarh]

D. ©uifR-aw6%a [Wari-Bateshwar]

Bl 9 ¢3S AN AARSA It (T Teram?
[Who was the Convocation Speaker in the 51%
Convocation of the University of Dhaka?]

A. 919% (@=99 [Professor Rehman Sobhan]

B. 41173 wi=es= [Professor Anisuzzaman]

C. wgi#= afw=1 23 [Professor Rafiqul Islam]

D. Si€119® W79 (317 [Professor Anupam Sen]

‘Bt oasw’ i w1Es? [Where is ‘Eternal
Flame’ located?

A. 591 e [Universily of Dhaka]

B. 5% @i [Dhaka Cantonment]

C. erzarsami ewie [Suhrawardy Udyan]

D. p8a e [Chattogram Cantonment ]

IHIFe AfSziSF 9% W7 oY 9 sifFd IewesE
‘iR =R W eAe DT @O WEeE 4l
zzate? [On which date has the historic 7" March
Speech of Bangabandhu been recorded in the
‘Memory of the World International’ register of
UNESCO?]

A 9o 5956 2054 [30 August 2017]

B. wo 9g19d 2054 [30 October 2017]

C. o> 956 3054 [31 August 2017]

D. 0 S3E9 2054 [30 October 2017]

vt REREET 24w e e & fkee? [Who
was the first Bangali Vice-Chancellor of the
University of Dhaka?]

A. 7K @, @%, 9= [Sir A. F. Rahman]

B. ©. 0= v Tegpmid [ Dr. Ramesh Chandra Majumdar]|
C. ©. Iixw AW [Dr. Mahmud Hasan]

D. fTsif® 32w 231 [Justice Muhammad Ibrahim]
AT YT WEEISF HY JIRGAE SO1F FS A A
<41 <97 [In which year was the first International
Crime Tribunal Act passed in Bangladesh?}

A. 553 [b5aR] B. 3599 [d599]

C. 2005 [2005] D. 2059 [039)]
FF 8 SIS T WSy Aqig it Foi6? [What is
the total number of common rivers between
Bangladesh and India?]

A.eo [50] B.¢x[52] C.e@9[53] D.¢8 [54]

10.

11.

12.

13.

14.

15:

16.

17.

18.

AR TRYITE TS ACHYNCS AT A
F3Zl e sa ¥t =@? [In which amendment of

Bangladesh Constitution was parliamentary form
government restored?]

A. @37 Aiigel [Eleventh Amendment]

B. wiv* Ag=itgel [Twelfth Amendment]

C. gram= A=y« [Thirteenth Amendment]

D. vowv= A=itg=l [Fourteenth Amendment]

¥9q) FET TEICq TINNAT & (FIF qoq AiaF N9
o’ Toifares ofis It T@? [Who among the
following women have been awarded ‘Bir Proftik’
for their contributions in the Liberation War of
Bangladesh in 19717

A. o=l (&1 ¢ SREF [{F [Sitara Begum and Taraman Bibi]
B. et /R @ o= {4 [Sitara Bibi and Taraman Bibi]

C. SR+ RK '8 SiZA[1 23 [Taraman Bibi and jahanara Imam]
D. Sig+ [ € @fE=i @19 [Taraman Bibi and Selina Begum]
Y9q) AFT Ifegee A oifFen wa ‘@i s &
1Erae wHits fg@m? [Under which sector the famous

uerrilla force named ‘Crack Platoon’ fought in
e Liberation War of 19717]

A. (557 8 [Sector 4] B. 159 9 [Sector 3]

C. (7189 2 [Sector 4] D. 39 5 [Sector 1]
fslehidi= =t (oew 3= o0 97 [What is the original
length of the Padma Bride under construction?]
A . vos@M [6.09km] B.wds =M [6.11 km]
C. vy @3 [6.12 km] D. uv.5¢ =.f [6.15 km]
T4IFe LIFETF Ta=ITS &7 &g wAgS? [In which
district 1s Madhabkunda Waterfalls located?]

A. Fig [Sunamganj] B. Bitat [Sylhet]

C. zf@sig [Habiganj D. © [Moulvibazar]
&= FMeifF am et T FAAYICHFA W
WRFS F@9! [Which Bangali of the following
became the Chancellor of Nalanda University in
the 7 century?]

A. \eTey [Shilgghadra] B. =rei Wi*iswq [Atish Dipankar]
C. <=7 [Kahnapa] D. [Jimutavahana]
‘W SEBCIe torfg g W ' IR AiESt &F?
[Who is the author of the book titled The

Ultimate Fate of the Universe?]
A. terg«id (1 [Satyendra Nath Bose]

B. 9= ARl [Meghnad Saha]

C. «a. wifzw === [M. Zahid Hasan]

D. e weeel 25 [Jamal Nazrul Islam]

@ e AP AT TIOAIRG-Y O FECR!

[Which institfufion of the following countries has
manufactured Bangabadhu Satellite-17]
A. I FF g@ai2 [USA B. & [France]

C. 201S [England] D. &mfif« [Germany]
G5 ﬁ'ﬂﬁ%ﬂ %ﬁaﬂﬁ TR & F4E gt
feros 3tarea? [Who was the first wicketkeeper to

score two double centuries in the history of Test
Cricket?]

A. 757 w9 [Liton Das]

B. ditsw w9 [Khaled Masud]

C. %< afza [Mushfiqur Rahim]

D. &5 3@ [Imrul Kayes]

b TWea tofe it e g4 wisEs &7 [Who is

the chief inventor of Sonali Bag made of jute?]
A. T A e [Dr. Maqusdul Alam]

B. ©. =1 9= [Dr. Haseena Khan]

C. ©. *1%9@ s [Dr. Shamsul Alam]

D. ©. 19i9< 9zt 419 [Dr. Mubarak Ahmed Khan]
¥59d I ISTH A "W A FF JEITT
i wgee za? [Where was ‘The Concert for

Bangladesh’ held during the Liberation War of
Bangladesh in 19717]

A. GrE@ele ¢%94 [Trafalgar Square]

B. 51259 ¢#9¥ [Times Square]

C. Wifes= ¢FEfR sites [Madison Square Garden]
D. 7@ = [Red Square]
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20.
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22

23.

24.

25.
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wrweifes Aagafe [International Affairs]

AR FF qod AT I F@? [Which
ethnic group of Bangladesh lives in plain land?]
A. 5991 [Chakmal] B. sttt [Marmal]

C. ige [Santal] D. f@%#t [Tripura]

[Who is the director of internationally famous
film ‘Matir Moina’?]

A. SEwaiq S99 [Alamgir Kabir]

B. @Itz 93 [ Tareque Masud]

C. Sield @ewa [Tanvir Mokammel]

D. =r=E 25 [Morshedul Islam]

it Tfes o= FF ot weieE sk Rgs o
ffet sigmst F¥/e? [Other than Russia, which

country is taking part in the construction of the
Rooppur Nuclear Power Plant?]

A. Wf$7 g&a3 [USA] B. 54 [China]

C. = [France] D. ©i¥9 [India]
B AR WSAea! I69E TR =S Qae® Sqaq

zt=6? [Which of the following museums, located

in Dhaka Cantonment, has preserved the
memories of Agartala Conspiracy Case?]
A. 3993 'qd [Bangabandhu Museum]

B. e (o 994 [Hall of Fame]

C. 19w =y [Birsrestha Museum)]

D. &l @Fif+[H sqed [Dhaka Cantonment Museum]
IRFCH Y TS wifad IS grEeg? [When has
Bangladesh Constitution come into being?]

A. 8 t=%q 542 [4 November 1972]

B. ¢ StS%4 Y593 [5 November 1972]

C. ¢ -t&59 359 [15 December 1972]

D. 3% sts%9 3543 [16 December 1972]

FEFR ooy IWER A9 17 [What is the name of
the earliest port of Bangla?]

A. sfie [Tamralipti]

B. 782g9® [Chandraketugarh]

C. s=ifaei2 [Gangaridai]

D. #¥9%9 [Samandar]

Tqrget Bge 4F e e Rene getesEne w12
[What is the name of the famous architectural
structure built by Ulugh Khan in medieval Bangla?]
A. SigHAA TifeE [ Ahsan Manjil]

B. ==t (@l [Lalbagh Fort]

C. 90 siq& 3#fem [Shateumbad Mosque]

D. wiifewl sffem [Altiya Mosque]

Answer Keys: 1.C2B3.C4B 5A 6B 7D 8B 9.A

10.C 11.D 12D 13. A 14D 15B 16.C 17D 18.C 19C
20.B 21.D 22.A23.D 24D 25.C

TS (FIF (I SITaa ORI (55 Wi (0T CEPeicee
g E3 F3er! [ Which country has recently relocated
its embassy from Tel Aviv to Jerusalem?]

A. ©s [India] B. gif&& [Brazil]

C. W% g&ai3 [USA] D. 5 [China]

TEAicend TAEwER Wi JF1? [Who is the Home
Minister of the United Kingdom?]

A. iv= 4 [Sadiq Khan]

B. 3793 &= [Boris Johnson]

C. wifem wrifew [Sajid Javid]

D. ¢¥[ e [Amber Rudd]

TSR TRADT AT SRR ATy (FEH?
[What is the citizenship of the United Nations
Secretary General Antonio Guterres?]

A. #iglie [Portuguese] B. (6% [Czech]

C. =41/ [French] D. Fif&E= [Brazilian]

10.

11.

12,

13.

14.

GO A T NS Rega FECTF Jo=iat w8
¢&? [Who was nominated by the Forbes Magazome
as the most powerful woman of the world?]

A. Gt [Sonia Gandhi]

B. fz=ifa f@=o=1 [Hillary Clinton]

C. a7l (1 [Theresa May]

D. =iieser qite [Angela Markel

&= ot Dt R faeifEee T ReAH 4!
(ET I AF? [Which country uses Yuan for
bilateral trade with China?]

A. 1= [Thailand] B. @t=if&a [Cambodia]
C. ©126q« [Taiwan] D. #iif*®™ [Pakistan]
i Wi YEaeEa FHE 9o (g 53Es? [Where
is the permanent military base of the USA
located in Japan?]

A. fzif=r [Hiroshima]  B. $51&t [Osaka]

C. sfFiea [Okinawal] D. Gif®s [Tokyo]

EIIR I TR JfeT & IEtares vEd @517
| Which political Party does Russian President
Vladimir Putin belong to?]

A. feRie® sttt Al [Liberal Democratic Party]

B. 21216 A= [United Russia]

C. @ir=ii= cetaierve e [Social Democratic Party]
D. =fref 6 +it [Communist Party]

TS (F 7o (T Sifowgay FYRe AfTwm s 7
itz faze art gEer? [Which of the two following

countries have recent]& been barred from casting
votes in the United Nations General Assembly

GA)?
g‘.]N .]‘G ferfem [Somalia & Libyal]
B. 241% € 24 [Iraq & Iran]
C. “ieE= 8 ©&x (Fifaat [Pakistan & North Korea]
D. csfege=i 8 R [Venezuela & Libya]
&I o SERfFEerT afedret gieme s ariey
wie Feaee? [Which country has granted citizenship
to Julian Assange, the founder of WikilLeaks?]
A. 5 [China] B. g [Russia]
C. 2gwrea  [Ecuador] D. s [Australia]
TS SEATS FIS TWIF IgeSIR ANEES SIHdod T8H
= F1? [What is the official name of the statue of

Sardar Vallabhbhai Patel recently installed
installed in India?]

A. 3575 = 2810 [Statue of Unity]

B. 3551 &9 &Few [Statue of Freedom]

C. 957y &% {Few [Statue of Liberty]

D. ¥57p W9 (St [Statue of Liberty]

& Ao et weEfes FomiE ameEs dfets
zaes? [Which Statute provided the basis for
establishing International Criminal Court (ICC)?]
A. o5y AER @ A9 [The Rome Stature of 1998]
B. 000 AMEA #7173 779 [The Paris Stature of 2000]
C. 2008 =™ ferz@i 77w [The Vienna Stature of 2004]
D.x00w AFAR SEeiies crreamia wmiere 79w [The ICCI
Statute of 2003]

ifEFR &= et Bieag e 916 Itae? [Where is
base of China located in Africa?]

the military
A. wif®¥ [Zambia] B. uf%9 =it [Uganda]
C. &si@t [South Africal D. fergfe [Djibouti]

& ot @t Seifara=t fe=r 1? [Which country was
not a British Colony?]

A. 5 [China] B. ¢#iiE [Nepal]

C. 9 [Nepal D. s [Zambia]
& T A 03 AET TYIST W50 ST T
U JIED ST T8 I 3o Zeaee? [Who is the
first Native American Woman to win the mid-term
election of 2018 and become a member of the

Congress in the United States of America (USA)?]
A. *f7ife% cefews [Sharice Davids]

B. @&t =it [Elsie Allen]

C. ==t sit5 w1t [Paula Gunn Allen]

D. 34 9519 [Queen Ann]
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(eIt G0 =it (9aA™) (FIF 43T 4o qen=res
weE ares FRee? [What kind of two parties
merge together to constitute Nepal Communist
Party (NDP)?]

A. 2 SeHEE wece [Two communist parties]

B. g AgiMml et [Two Maoist parties]

C. u2 si°eifgs werts [Tow monarchist parties]

D. 92 Fiereifes® wae@ [Two monarchist parties]

05 FITA NECEraE YR I wE R e
T ~Fiee IwkEw? [Whom did Mahathir Bin
Mohamad defeat in the Malaysian general
election in 20187]

A. SR 231f&% [Anwar Ibrahim]

B. =iifér e [Najib Razak]

C. siI¥fq 9191 [Ghafar Baba]

D. wi@iz wzew qmiedl [Abdullah Ahmed Badawi]
@ T 9T @e (R=E=R) =i @ 7w
ST ™ . [The Belt and Road Initiative (BRI)

is also called .J
A. vt 7 @w @R @6 [The Silk Road

Economic Belt]
B. €T (3% 93 (A% [One Belt One Road]
C. S48 @ i1 @36 71w [Either of the two names

mentioned above]
D. &=tz gt 7z [All of the two names mentioned above]

TR R WitwiEs wigpiwe 9% — | [The Huthi

movement in Yemen is officially called —. ]

A. SIF19 SIER [Ansar Allah]

B. g7 W=HE @Wigz [Jund Ansar Allah]

C. fzergaiz [Hizbullah]

D. 3ifss wi@z [Barik Allah]

FIS FEEFFF W (iors F=eife o= @t fMre?

[Which country of Latin America is currently

experiencing famine?]

A. gife= [Brazil]

C. Jf=feat [Bolivia]

FR-SEA AT AT IER

connects .

A 3G, S @ SRR [Yemen, Djibouti and Eritrea]

B. 20w, fergfe «ar 3R6a1te [Yemen, Djibouti and Ethiopial

C. 2EEE, (Sl @32 WS [Yemen, Kenya and Sudan]

D. 3raw, fegie «@e, G [Yemen, Djibouti and Somalia]

WIPO 4z 9= @st —— | [WIPO stands for —. ]

A. TS FDRAE 294 Sefmiarem [World International
Property Organization

B. =™ g+ &
Property Organization]

C. a7 MiE caa SeiienE™ [World International

Players’ Organization]

D.g3% Brofemem A weimigter= [World Intelligence

Property Organization]

I TS AR (FI= Feen 97 F&? [In which

State of Myanmar do the Rohingya people live?]

A. 919185 [Rakhaine] B. =19 [Shan

C. =ib7 [Kochin] D. 54 [Chin]

R &9 ot =F 7eifares AE? [Which country is

the top most arms exporter in the World?]

B. ==1%4i [Columbia]

D. cst=eeEEl [ Venezuela]
| [Bab-el-Mandeb

[World Intellectual

A. 5@t [Russia] B. wiféa a1z [USA]
C. 5= [China] D. ¥ [France]
+ATif% pfe == | [Paris Agreement is —, ]

A. *iiff$ sgaiTst [a peace deal]

B. Ty “ifie A& RIS [a climate change deal]
C. =8 AN [an arms control deal]

D. iR FREead FTmErel [a denuclearisation deal]
& it e Fwma @riEst @2? [Which country
does not have access to the sea?

A. 213=nr® [Thailand] B. 019 [Bhutan]

C. ™ [Bhutan] D. 191+ [Japan]|

Answer Kevs: 1.C 2.C 3 A gl ?.D 6.C 7.B 8.D 9.C
TOATTATZD

B
. . DI13B 14 A 15A16B 17D 18.A 19D
200A21B22A23B24B25.B

il R_SvwiET 2od>a-2w0>d

01.

02.

03.

04.

05.

06.

07.

08.

09.

10.

11.

12.

13.

14.

15.

16.

17.

18.

19.

Y : OF T061

of=1+ : 30
TI=11
qeFEEd WS Aaie FfRicateE-
A. ©f& B. “@Ema C. W9Ress D. *if&
fAea = <{wif e Siwewyaitae @dt?
A. IR M6 B. gfem
C. 394 D. dfag oo
gt TetiE (raam &= qasa Swwe et faama
T2
A. 9fMast B.wzgimd C. 29 D. 3=
‘TEEAIEE Y WA AT I FRIA0IRCT “gERiea 391
A <ITe IE” vk IS ZEE-
A. &= B. Jrea™

A. C. &9 D. w5

‘a2 fANTe @F T AR IR FHT 7N Fi?

A. wi=E B, sedwe Co3wEst D, 9werel
i g Gepey -9 sReE it
ST @02

A. g B. @} C.uNre D. &
A oIS *%?
A. =7 B. i C. sir D. ==

'Once bitten, twice shy'-43 53 5 =2
A. (7% [ T @Erea FE?

B. Si{@ FAWPAITe e w18

C. sfent z =17

D. vir* fafe 3l =iw, 2 & 7ifE =

A 9@ B.¥@EM  C.Aebe D, =
&FEb F?

A. T+® = SR B. W=H+541 = W4l
C. &fs + T3 = dg¥ D. %73 +914 = 4q%iA
TG AfoF TRt 712?

A. 9 - foqa B. *[¥ - @

C. 7371=A - *[*It=r] D. &% - el

‘G I AAFE ST FER - (I FIET Bwigge?

A. AR FoT® B. 27T were
C. *jz1efos 9= D. Y69 F9TH
'Charter' *It=2 3=t «iffsta1-

A . T@Ei® B, wwm C. oy D. sfAsg
wee = TG aftrs?

A. FrRyew B. Faeow C. @iesw D, Frcsw
moee = IR AT Swigadt w97

A. e B. waarm  C. ¥ D. =9

I > BrErl- uft |/ET (W = AfFasa?

A. @7 95 B. Sie=rfe

C. wf [94w D. 345 =719

‘SRS (T TSI I«oe [RET GF 91 Th—

A . wriffrm B.wd@wifs  C. #Aawi= D. “Afa@a= g



20. ‘e’ *rwm = —

A. 2 B. iR C. SRt D. T9&
21. AT FeiATAIe (B?
A. 3 B. azfee
C. A%ge D. s1efuz
22, ‘«qF (¥ Te= e 1'— T (@ -9F TN [N Fi?
A. ST S99 B. IS4 WG
C. =mr=a s=_m™ D. 49 S[{E
23. (0 GFTFF 57
A. & B. o C. =2 D. @2
24. W F=, W | —afo FT 4T 1977
A. RS B. didatyers
C. FEIEATIF D. S
25. ey %' 3 (FE AE?
A. ? Tl =ita B. ‘T arf 4@

C.¥Irliuefe o R D. T Il ue-fe @ R
Answer Kevs: 1.C2C3A4AS5C6D7B8D9D
10A11.D12B 13B 14C15B 16.B 17D 18.A 19.D
200C21.B22B23.C24.C25.D

General English

Read the following passage and answer questions 1-5 :
When it comes to dealing with violence against vulnerable
groups 1n society, such as children, legislation 1s one
important tool that must be enacted to deter people from
resorting to violence. In Bangladesh, there are laws
providing protection for children, especially girls, but these
laws have often proved to be ineffective either because of
an absence of stricter clauses or lack of proper
implementation. These have resulted in a surge in violence
in recent times. Rape, gang-rape, torture deaths and child
marriage are only a few examples of violence-related cases.
Formulating appropriate mechanism for the implementation
of the Children Act 2013 has become an urgent need to
improve legal protection of children. We must all be
sensitized to the rights of children and must unite to create
an environment of zero tolerance to wards violence of any
sort—sexual, physical or psychological against children
through the implementation of the Act.

01. The most appropriate title for the passage would be:

A. Violence against children

B. The legal system of Bangladesh

C. Protecting children's rights

D. Children in Bangladesh

02. The antonym of 'vulnerable’ is:
A. defenceless B. illiterate C. poor D. guarded
03. The noun of 'deter’ is:
A. deterrence B. deterrential
C. detention D. detour
04. Why has there been a rise in acts of violence
against children in recent times?

A. Children are unaware of their rights in society.

B. There are flawed laws in the Bangladeshi legal
system to punish criminals for acts of violence
against children.

C.Juvenile justice remains slack in enforcing proper
action to protect children's rights.

D. The legal system today sees children as the most
neglected members of society.
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05.

06.

07.

08.

09.

10.

11.

12.

13.

14.

15.

16.

17.

18.

19.

20.

21.

'Zero tolerance’ is:

A. A policy that measures intolerant behaviour of
criminals on a scale that denotes zero as the
negative reading.

B. A policy that imposes strict punishment for
offences with the intention of eliminating them.

C. the penalty enforced against juvenile delinquents.

D. A legal term used for punishment within the
armed forces.

Choose the best option:

The police tried to blame the accident the
poor rickshaw puller.

A. for B. to C. over D. on

This 1s the school which ——.

A. Tused to go B. I used to go to

C.Igo D. I am going

Neither the teacher nor the students to use
this book again.

A.wants B.want C.wanting D.is wanting
As 1 Mr. Chowdhury's behaviour towards

me. I will not tolerate it anymore.

A.admire B.engage  C.detest D.1imtiate

Due to the continual noise from the street below,
I couldn't what I was reading.

A. comprehend B. bother

C. pretend D. initiate

Farhana speaks English fluently ; —— , she
knows French.

A. however B. since

C. although D. moreover

I think my brother has his friends badly
and displayed selfishness for a long time.

A. respected B. treated

C. acted D. protected
Germany has won the football match. ?
A. has it B.hasn'tit C.didit D. does it
The strength of Achilles was on his '
A. hill B. heal C. heel D. hell
The discovery of penicillin was a event.

A. sensible B. sensational

C. senile D. sensitive

The Highway Agency warned drivers to be extra
careful and to delay journeys if bad weather

A. facilitates B. persists
C. hinders D. ceases
Left himself, he would be able to complete

the work in less than a month.

A. with B. on C. by D.to
The correct synonym of 'discrepancy’ is:
A. discreet B. discursive

C. disagreement D. discourse

The antonym of 'viable' is:

A. possible B. impracticable
C. vulnerable D. honourable
One who draws maps is called a
A. compositor B. cartographer
C. apothecary D. curator

The meaning of the word 'nocturnal’ is:
A. sleepy in the afternoon

B. occurring or active at night

C. sleepless during the day

D. passive during night
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The correctly spelled word is:

A. escalater B.etherial C. estuary D.exquisit
What is the meaning of the idiom 'to follow your
nose'?

A. to discover something B. to follow your instinct
C. to smell something D. to suspect a trick

'A piece of cake' means:

A. Something that is very easy

B. A slice of cake C. An inexperienced person

D. A valueless act

The appropriate translation of the following
sentence s THITTT (W9 FA19 &0 IFCE is:

A. Our teacher expelled us for being late.
B. Our teacher detained us for being late.
C. Out teacher punished us for being late.

D. Our teacher told us off for being late.
Answer Kevys: 1.A2D 3 A4C5B 6D 7.A 8B 9C

10.A 11.D 12B 13.B 14.C 15.B 16.B 17.B 18.C 19.B
20B21.B22.C23B24 A25D

AR @i General Knowledge

Fteemiea=t =aat® [Bangladesh Affairs]
e 5o *¥pE @ Tr=fas z@? [When was the

Chittagong Hill Tracts Peace Accord signed?]
A. 3¢ =6 3592 [25 March 1972]

B. 2 f5mma d5%9 [2 December 1997]

C. >3 =18 Sv5v [12 July 1996]

D. 2 st&%4 2003 [2 November 2001 ]

Mt Toa v 5?7 [What is the length of the
Padma bridge?]

A. 8y M [4.8km] B. ¢.09 @M. [5.03 k.m.]
C.vdefsfi [6.15km.] D. 9.0 &M [7.01 km]
IRATT fASm FRERT (FIEF NGE IS &1 97
FreeRd 41t3? [How much GBPS Bandwidth will

Bangladesh receive through the second submarine

cable?]
A. dooo f&fafas [1000 GBPS]

B. 300 f&R#«7 [1200 GBPS]
C. Seoo &9 [1500 GBPS]
D. o000 f&@Ri#9s [2000 GBPS]
FLETA EOE AFWR FoiEs =W F17 [What is the

name of the speaker of the Bangladesh National
Parliament?]

A. =renr ¢big€l [Najma Chowdhury]

B. fidi= =afie ¢bigst [Shirin Sharmin Chowdhury]

C. wizxwi oigsl [Mahmuda Chowdhury]

D. ™= eaie ¢bigdt [Shirin Osman Chowdhury]
FiETrt T3 g Fifey Feg@ swen=w =irs Fa? [When
did Bangladesh acquire the membership of the
World Trade Organization (WTO)?]

A. 355 [1991] B. Y558 [1994]

C. 553 [1992] D. 85 [1995]
FECHT FIGE I8 Zo9wd FE? (Which is the
largest land port of Bangladesh?)

A. @@ [Benapole] B. iz [Hili]

C. 9rdreet [Akhaura]

D. 7= sFifem [Sona Masjid]

10.

11.

12.

13.

14.

15.

Y@ HIE AEISH I FIIET wdwHg & foEa?

[Who was the finance minister of the Government
of the People's Republic of Bangladesh in 19737]
A. 9, g, 7fgs [A.R. Mallick]

B. @9, @«, gat [M. N. Huda)

C. === 29 [Nurul Islam]

D. wierew« wizaw [Tajuddin Ahmed]

‘B (AT (At veETeand fifEsEE (7 [Who was the
director of the film 'Jibon Theke Neya'?]

A. B23 7% [Zahir Raihan]

B. wiem g <@ [Alamgir Kabir]

C. ¥s® we [Subhash Dutta]

D. < weteq g2« [Khan Ataur Rahman]

GO IS 059 TIAE FITF It Fo? (What is
age range of the youth according to the National

Youth Policy 2017?]

A. 5>3-38 =9 [12-24 years]

B. S¢-3¢ =9 [15-25 years

C. d»-9¢ 9=q [ 18-35 years]

D. 20-9y 929 [20-38 years

51 R ¢osq ANRSH FIF ANTHF Gid 9

Aimw v F9 TW? (Who was conferred the

honorary Doctor of Science in the 50th

convocation of the University of Dhaka?]

A. Fi *1ife (Francis Gurry]

B. e 5@% (Amit Chakma]

C. &9 17 (Pranab Mukherjee]

D. ¥5% 289 (Relf Heuer)

2039 HA WRATSF FAS! [6rF TRAACTE SIZIH

Foo%! [ What is the position of Bangladesh in the

Economic Freedom Index of 20177?]

A. 52097 [120"] B. Savew [128™]

C. doqew [137"] D. s83ew [142"]

SoLY I THIF N IEgT T WS ' W Wi F

<oy w § fe=r? (What was the name of the

booklet which contained the six points as presented

by Bangabandhu Sheikh Mujibur Rahman?]

A. =Em#w b 4reffem wife [Six Points Programme:
Demand of the Bangalis]

B. =@l Siiera <16t Wi [Six Points: Our Right to Live]

C. ewol: Mimd A@rwd w4 [Six Points: Our
Demands for Struggle]

D. =ve: +F JEER IR SEFE [Six Points: East
Bangal's Right to Live]

Yoq0 IAEF wreF v whem At Foefe weH

eit zrafea? [How many seats did Awami League
win in the 1970 National Election?]

A. 30 [170] B. dus [169]

C. »vq [167] D. 359 [193]

=R IEECE ERE S1ES? (Where is SPARRSO
located in Bangladesh?]

A. 58219 [Chittagong] B. e [Barisal]

C. 1=t [Dhaka] D. 4=« [Khulna]

FET AAF TaE TN AfEeret ¢? [Who is the
founder of Bangladesh Academy for Rural
Development (BARD)?]

A. o1& Fied Sizem [Kazi Faruque Ahmed]

B. &t T WItdw [Fazle Hasan Abed]

C. =feT= s [Shafiul Azam]

D. wi¥eR Tfaw 4 [Akhter Hamid Khan] 10
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HILEISE ARAACR TG I FYGITrt Goma wao!
9 TS TER? [Who has the power to promulgate
ordinance according to the constitution of the
People's Republic of Bangladesh?]

A. @4 [Prime Minister]

B. 3i#+f® [President]

C. P=ie= [Speaker]

D. @i fJei@7fe [Chief Justice]

g (F=a 394 g2 w2 =7 [Of which of the

following Louis I Kahn was the architect?]
A. *2v =17 [Shaheed Minar]

B. =36 [High Court]

C. i wiferg 3w [The Bangladesh Parliament]
D. &« 27 [Curzon Hall]

AT TR @9 =¥ AP A7 ThiEe
WiRe"R qi8cs HwuE? [According to which article of

the Bangladesh Constitution all citizens are equal
before the law?]

A.a[7] B.=xa[27] C. 5 [11] D.3[17]
oIt fTeet 36 &e Twe? [How many districts
are there in Dhaka Division?]

A e [15] B.>o[13] C.53[12] D.>8[14]
FECA SO AAW FAFS w4 = Fqn? [How
many seats are reserved for women in the
Bangladesh National Parliament?]

A.eo [50] B.wo[30] C.wee[35] D.s8e][45]
FiETAet Jxew q+t FEi6? (Which is the largest
island of Bangladesh?]

A. 314 [Sandwip] B. csi=i [Bhola]
C. o6 =ifo= [Saint Martin's Island] D. =ifea [Hatia]
wiee IR 49 AqnE & fegem=? (Who was the

first Prime minister of the undivided Bengal?]
A. @G 37 Earsmit [Huseyn Shaheed Suhrawardy]

B. 9. (3. Tege1 2¢ [A. K. Fazlul Huq]

C. fa4i= o5 1w [Bidhan Chandra Roy]

D. 4iet Aiewema [Khawaza Nazimuddin]

Teeret ArECEa et F@ 96?2 [When did
Magurchara gas field explosion take place?]

A. 3558 [1994] B. 3559 [1997]

C. 2000 [2000] D. 2003 [2002]

‘aFrecs Tiefs’ 327 @14<F &? [Who is author of
the Book "Ekattorer Dinguli''?]

A. @it @ [Selina Hossain]

B. gy« wi=taw [Humayun Ahmed]

C. T wifee@ 2 [Hasan Azizul Hoque]

D. sE=at 23 [Jahanara Imam]

2039-3 Y IR IRFWCR ACHWT WEF FS GiFt?

[What was the size of the budget of Bangladesh
in the financial year 2017-187]

A. 0 &R vo (&6 51t [3 lac 80 crore Taka]

B. 8 =114 2y (16 5=l [4 lac 266 crore Taka]

C. ¢ =4 (&6 61= [5 lac crore Taka]

D. ¢ =114 voo & 5= [5 lac 600 crore Taka]

Answer Keys: 1.B2C3.C4B5D6A 7D 8.A9C

10.B 11.B 12B 13.C 14.C 15.D 16.B 17.C 18.B 19.B
200A21.B22B23B 24D 25.B

wwefes FEmrRfe [International Affairs]

it JiFs & [FaEs A’ 7=-4=F=? [What is
Kyoto Protocol linked to?]

A. *f® [Peace]

B. 3 [Agriculture]

C. Fifdsy [ Commerce]

D. #f@@= [ Environment]

it FE IR Q@ FidEst ae F@? [Which

country did America get independence from?]

A. 9057 [Britaina] B. ¥ [(Canadal)

C. waterl [Australia] D. =gl [Canada]

‘w12 e @ ' Ads gt F@? [Which leader did
deliver a speech titled "I have a dream"?]

A. rzifee IrEAm [Mahathir Mohammad]

B. 7=+ Wits= [Nelson Mandela]

C. W5« 72" fe2 [[Martin Luther king]

D. sz sit [Martin Luther king]

Fifer’ *=o ORI ©rEt (1tF? [Which language
does the term 'emoji' come from?]

A. 2@ [English]

B. =fife= [Spanish]

C. wi+iif7er [Japanese]

D. =i [Latin]

‘TR drgg st &? [Who wrote the book
'Republie’?]

A. %9 73 [lohn Lockel]  B. ¢2it5i [Plato]

C. =if§554 [Aristotle] D. A&rBA [Socrates]
it o 91 299 9™ @i =iy 17 [What
is the name of the first atomic bomb dropped on
Hiroshima?]

A. T&6= 3 [Little Boy] B. @516 w1« (Fat Man]

C. 35633+ [ Batman] D. %516 99 [Fat Boy]

o (0) 3=z 3T Fifamm e w2am Ffm gome
T “iredt frafea? [Where was the dead body of

three- year old Aylan Kurdi found?]

A. @iEs 717 [The Red Seal]

B. st##=1519 [The Bay of Bengal |

C. gagrea [The Mediterranean |

D. 9<< Asiq [The Arabian Sea]

T TSANET TR Sworrma 79 1?7 [What is the
name of the Upper House of the US congress?]

A. zr8e 5% F39 [House of Commons]

B. P75 [Senate]

C. =res 5% 7169 [House of Lords]

D. zite W% farareroibes [House of Representatives]
wifeTmy wAIfEFR Fregs RFHEeEEs T F1? [What

is the name of the United Nations High Commissioner
for Human Rights?]

A. 9= (=TT [Alan Lomax|

B. I Ez®i9 [Asma Jahangir]

C. f*ifs= @aifw [Shirin Ebadi]

D. (&3w ai'w e g3z [Zeid Ra'ad Al Hussein] T
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T I A0S @RS & & ed 7g? [Which
countries fought the Opium War?]

A. b7 ¢ y&=rey [China and UK]

B. 59 8 g&=g [China and USA]

C. b= @ g™t [China and Russia]

D. b= € 3 [China and France]

0N TR FEEEAN SR G (@RI e ZEE?
[Where were the summer Olympic Games 2016 held?]

A. 1518 [Tokyo]

B. @8 f& cwfFieat [Rio de Jeneiro]

C. 78 #1et=l [Sao Paulo]

D. =% [London]

qeurE AATE AFCAT JYETER oW (4T T
Fa0s =T &9? [Why did the Pakistani Prime
Minister Nawaz Sharif resign from his position?]

A. (TieeB @rerwifa [Memogate scandal]

B. SGATIG (wrer=ifa [Watergate scandal]

C. == ¢si=i™ (atersifa [Panama Papers scandal]

D. @EA F==iE [Bofors scandal)

(FH0 W Temees A= &fed=? [Which of

the following environmental organization is

based in Amsterdam?]
A. 9 %9 [Green Peace]

B. w1 fizz@i 11 [The Sierra Club]

C. eur% ¢35 [World Watch]

D. &= @ant [Coal Swarm]

FEERe M gE0 AWIS-REE WietwEEd w0
fFers zfem? [Which place of the following

became famous for Anti-Gaddafi movement?]

A. %34 [Blue Square]

B. 91t1= #4149 [Russel Square]

C. &85 %517 [Green Square]

D. wizfda %aiq [Tahrir Square]

x0dq e T A FRE wgoe z@? [Where was
the BRICS Summit 2017 held?]

A. @3f&e | Beijing] B. féma= [Xiamen]

C. syfer [Nanjing] D. feziafe [Tianjin]
FAT B Tow S ey ot 1 gi5? [Which
of the following are the highest green house gas
emitfing countries?]

A. b7 @ =8 [China and USA]

B. ®i%@ @ b [India and China]

C. 519 @ 1% [China and Russia]

D. Giiv =199 8 ©iFe [Saudi Arabia and India]
i w9 ifve aifen e It am §12

(What is the name of the commission formed by
Myanmar to address the Rohingya issue?]
A. =™ FE=A [Nathan Commission]

B. fosreb @+ [Chilcot Commission]
C. 9= F=« [Anan Commission]
D. 352 777 [None of the above]

18.

19.

20

21.

22

23.

24

25.

@R RO® @or WEmR a¥E WTEY TR OWIR?
[Which of the famous leader's dead body is still

preserved?]
A. I WE [Marl Marx]

B. gl ©2e« [Woodrow Wilson]

C. i 5 i [Ho Chi Minh]

D. wif@ 216 ¢afem [Vladimir Ilyich Lenin]

Y & o7 RgiR! @917 [Which country does the
Mouthi rebel group belong to?]

A. 0 [Yemen] B. Giwiferat [Somalia]

C. 7i2ts== [Nigeria] D. A=t [Libya]

TS Ter (Il 7T TEanaa (I TUe 4GS A
s farae? [Which place in the USA did North
Korea threaten to attack recently?]

A. sifee Sig=n®A [Virgin Islands]

B. 7@te! &3t [Puerto Rico]

C. SitaES@ Aaw [American Samoa]

D. &9 [Guam]

SRS (Vi IS IS (TS WIY WA (&FIA(0?
[Which carrency note was declared illegal by the

Modi Government?]
A. ¢oo %% [500 Rupees] B. ¢o w# [50 Rupees]

C. Yoo @i* [100 Rupees] D. 200 %% [200 Rupees]
2039 HA FZCS @Ea (It &7 [Who won the

Nobel prize in Literature in 20177]
A. s@%e1y 319 [Arundhati Roy]

B. =igs 2#et@t [Kazuo Ishiguro]

C. 4Rt w=at [Pablo Neruda]

D. 5f¥ 9f@%= [Toni Morrison]

‘et gr®w’ @I4m? [Where is 'India House' located?]
A. ©[% [India] B. (71151 [Nepal]

C. qie=nta=l [Bangladesh] D. g@aen [UK]

A fagd Jws e I@r- [Doklam Tri-
boundary connects-]

A. =g, b1 8 (791= [India, Chinda and Nepal]

B. 54, ©iF® ¢ ©69 [China, India and Bhutan]

C. b, ©i9® 8 #ife@™ [China, India and Pakistan]

D. s, ©f9e @ B [Afghanistan, India and Chinal]
CAT (I WA FIAASEA G IS WCH A FACR?
[Which part of Spain is currently struggling for
independence?]

A. <@t [Tarragona] B. @ife= [Seville]

C. sreief@dl [Catalonia] D. &= [Girona]

Answer Kevs: 1D 2A3C4C5B6A7C8B9D
10A11B12C 13 A14C 15B 16, A 17.C 18D 19.A
200D 21.A22B 23.D24B 25.C
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(99 T 96T *Itog IZI6LA -

A.9sq  B. fiow C. =sf D. sf=
o FATACR &7 Toet-

A frf B.Rzs C. 5& D. farsset

TIAE @30 o1 I 1'— G2 IMFT W' (T IS
i [Fefe?

A. 9@ T8I B. S wesit
C. = 98! D. Sifq@ar #ed

IR SFS 1l QST FAAFS BF1 TS FT SRARLEAN?

A. fefa 7 o= zres B. fofa afw meaiiferae zres
C. fof7 o afssbbagren D. & 3 9egiifs zren
A. (74te T4 Tem1 A B. %4 (52R1K &
C.es Fmsaeae e D. e It fes =1 93

w57 19 147 o e BTt (ereE-
A. BTW *E 29 B. 33® ©&6Y
C. =R D. Sz Z1hi|

‘R TR 5 (%05, (R A TR 1’ - 92 SJ6AD IER (& IHAE-
A. S9RTe B. 5ER ¥ C. [eE D. ==
R FYT WA TS T FRIAIOIIC (EUisHR Jid F
AR =TH?

A meeerB. gfea gy C.mfesa  D. s =9

e D wedwTs 18 w1?

A. s=FeE B, weifEa@ C. IuFiita D. saiEa
‘g fAeeEe “toae o -

A. € B. w3 C. &5 D. «igy
Ao 1A 52

A. 7+ ugl = fligEl Bl w=2i4e = 13e

C. 3% + T9F = IR D. & + 5@t = e
e’ 967 (T Tefee w912

A. FISIER & B. =51y 319

C. o ale D. s394

v e ztme e oo @ - AT T
ToeE’ *=0 I LT AFT?

A.end  B. el C. Foidet D. wsrel

SR S YT 6T IR (AT CIS-

A. (7], 9, FUCEl, F6Fal B, @, biTliFEl, &N, et
C. I, (217 t, 90, $Iee D, FibSal, (719, W, 710
‘I WICE (F BitE wiens?’ -efE’ +13?

A. f[Temre B, 99w C. (=19 D. =g
A. Mfes &g B. @ =iife 5-2 &=

C. =ifs & w2 D. srsfvg ez

FeiFrt (FIH0?

A. (B ARsR 4 B. 43 =t

C. =< el D. (o33 cof=
e’ w R -

A el B. *fewge C. smrze D. 5%t

‘He was out in reckoning.’- MBS I IHITIM-
A. O I T T0TRd | B. ©R =y w51 20 |
C. ¢ foite g= stafza | D. 17 w1 41717 2afes |

(FAI0 BoPige == 717

A fafir B faem C. faf= D. ferem
Tregrs Fefea’ AstyiitT -

A. SIS a9 B. i+t Wi e e
C. s v we 34 D. ==

i i = sieet g 5 1 IR
A. AWZADS B. 9g@Rive C. T[S D. IR0

A.feslc  B. pE® C. *i6fo D. =35
. GFSEE T BER T AR FIF FoE?
A. GFSH B. AArm@mt
C. SRR TS A D. (T shud
25. ‘utw 3ot o oeifoe e ' —adits oeAs'—
A FAIHI SGw B. S S5
C. w3 =[{™ D. S 9=17 =59

Answer Kevs: I.C2A3C4B 5B 6.C7C&8B9Y9B
10LA11.C12C13.C14A 15A 16D 17.A 18A19A
20B21.D22.C23.D 24 A25.D

ENGLISH

Read the following passage and answer questions 1-5
Dolphins are regarded as the friendliest creatures in the
sea and stories of them helping drowning sailors have
been common since Roman times. The more we learn
about dolphins, the more we realize that their society is
more complex than people previously imagined. They
look after other dolphins when they are 1ill, care for
pregnant mothers and protect the weakest in the
community, as we do. Some scientists have suggested
that dolphins have a language but 1t 1s much more
probable that they communicate with each other without
needing words. Could any of these mammals be more
intelligent than man? Certainly the most common
argument 1n favor of man's superiority over them—that we
can kill them more easily than they can kill us — is the
least satisfactory. On the contrary, the more we discover
about these remarkable creatures, the less we appear
superior when we destroy them.
01. Itis clear from the passage that dolphins —.
A. don't want to be with us as much as we want to
be with them
B. are proven to be less intelligent than once thought
C. have a reputation for being friendly to humans
D. are capable of leaming a language and communicating
with humans
02. The fact that the writer of the passage thinks that
we can Kkill dolphins more easily than they can
kill us —.
A. means that they are better adapted to their
environment than we are
B. shows that dolphins have a very sophisticated
form of communication
C. proves that dolphins are not the most intelligent
species at sea
D. does not mean that we are superior to them
03. One can infer from reading the passage that —.
A. dolphins have some social traits that are similar
to those of humans
B. communication is the most fascinating aspect of
the dolphins
C. dolphins have skills that no other living creatures
have, such as the ability to think
D. it 1s not usual for dolphins to communicate with
each other
04. The passage seems to suggest that
A. Man is not a mammal.
B. Man i1s the most intelligent mammal.
C. There could be more intelligent mammals than man.
D. Dolphins are the only intelligent mammals.
05. According to the passage
A. Sailors have helped drowning dolphins since the
Roman times.
B. Dolphins have drowned sailors since the Roman times.
C. Drowning sailors and dolphins have been helping
each other since the Roman times.
D. Dolphins have been helping drowning sailors
since the Roman times. 13




06.

07.

08.

09.
10.
11.

12,

13.

14.

15.

16.

17.
18.

19.

20.
21.

22,
23.

24.

25.

Answer Key: 1. C2.D3. A4 C5. D6.D7B8DS9%A
10C11.D12.A13.D 14D 15B16.C17B 18 A 19.B 20. D
ol D 22.A23.D24. B 25.C

ucC

Which of the following sentences is correct (6-7):
A. Doctor suggested patient to take vacation.
B. Learning the French isn't easy.

C. We had great time on the top of mountain.
D. He likes listening to music at night.

A. More you read, less you understand.

B. The more you read, the less you understand.
C. The more you read, less you understand.

D. More you read, the less you understand.
Choose the correctly spelled word.

A. Occassionally B. Ocassionally

C. Occasionaly D. Occasionally
Choose the correct preposition (9 &10):

My father was angry me.

A.with B.at C. of D. on
London lies the Thames.

A.over B.under C.on D. at
Which one of the following is not a synonym for
‘anxiety'?

A. disquiet B. apprehension

C. unease D. indifference

What is the antonym for 'turbulence'?

A. tranquility B. disorder

C. disturbance D. rupture

Complete the statemenits with appropriate choices
(13-15):

The Bangladesh girls 'football team beat the
Indian girls' team 2-1 with a —— minute goal.
A.first  B.injury C. penalty D. last
The doctor checked the patient and found
only minor problems.

A. casually B. reluctantly

C. thoughtfully D. thoroughly

The referee blew the whistle to end the game

there were two minutes left.
A. therefore B. although C. since D. however

Choose the word that is closest in meaning to the
word in italics (16-17):

Sweet are the uses of adversity.

A.university B. publicity C. difficulty D. uncertainty
Speech was given to man to conceal his thoughts.
A.reveal B. hide C. express D. argue

I went after my dream and now I am a published
writer. The underlined phrase means-

A. pursued B. obtained C. got D. proceeded
Choose the best option (19-21):

If I had known he was in trouble, 1
A. would B. would have

C. should have D. have had

Raju is someone you can your confidence.
A. getinto B. take into C. build up D. boost up

I could not figure what the teacher was
talking '
A. into, on B. by, on C. on, about D. out, about
Choose the correct pronoun (22-23):

among you are from Class XII?

A.Who B.Which C.Whom D. Whose
The first half of the game belonged to us, the
second half to .
A.they  B. their

helped.

C. those D. them

Choose the verb that agrees with the subject (24-23) :

The batsman the ball with all his might.
A. striked B. struck C. stroke D. streaked

I am used to coffee in the morning now.
A.drink B. drank C. drinking D. drunk

01

02.

03.

04

05.

06.

07.

08.

A <=l
FiEroat et [Bangladesh Affairs]

‘et FEE @ w3ge? [Where is the
'‘Bangladesh Square' situated?]

A. =ii3tafa [Liberial B. cifsrstferat [Mauritanial
C. 3=°(% [Burundi] D. wrerif¥s [Mozambiquel
WP TRTF FEE FRE ANEE T ER?
[Where is the mausoleum of Bir Sreshtho
Mostaia Kamal?]

A. Sieel, gracifea [Akhaura, Brahmanbarial

B. vgwm=i, ¢sfe [Charfashion, Bholal

C. I3+, ¢+ [Muksudpur, Gopalganj]

D. fee77, 3@ [Bikrompur, Munshigonjl

T4 IREeaet FES (eR A4y T IR qiW F?
[What is the name of the first seaport built in
independent Bangladesh?]

A. te¥ 3y 394 [Potenga Sea Port]

B. #7199 9%19 [Payra Sea Port]

C. 31161 9919 [Kuakata Port]

D. T¢# 319m %99 [Mongla Sea Port]

203 FAEA 57 9 T Jrew@ia® T49W! (FH TEER?
[Who among the following has been honored as
'‘freedom fighter' in 20167}

A. 5=l 29 [Jahanara Imam]

B. =13fS s+ [Ivy Rahman]

C. cwamniat feweif@dl [Ferdousi Priyabhashini]

D. et e [Sufia Kamal]

IFAMACR SO FONF (T ORI IR o fea
[ Trer? [What i1s meant by the stars that
have been embedded in the National Emblem of
Bangladesh?]

A. 94difs [Economy]

B. =39 [Promise]

C. =197 g Toblres! [Aims and Ambitions]

D. arzferEa sefagitas geHitesz [Founding principles
of the Constitution of 1972]

A R e Tedifrs Weem e ¥ ot
gff=? [Currently what percentage of the
country's total fish production is Hilsha?]

A. &1 ¢o =15t [Nearly 50 percent]

B. &f@ 53 @4l [Nearly 12 percent]

C. &r@ oy i [Nearly 36 percent]

D. & 2¢ ot [Nearly 25 percent]

et It GEifr idm S=Es? [Where is
Chheradia or Siradiya located?]

A. =ifeai¥ [In Hatiya]

B. <= %1t [In Nijhum island]

C. &b b= %iteig ©etd [In the north of Saint Martins island]
D. % wifoe= @it wiwe [In the south of Saint
Martins island]

Tple S e ‘o I’ afsTet gFeH
et | o AN F?  [According to popular legends,

a King had founded the famous 'Dhakeshwari
Temple'. What was his name?]
A. e eaEs [Raja Ram Mohanl]

B. T@= &= [Ballal Senl
C. =sret (macenife [Raja Devjyotil
D. =15 (3« [Lakshman Sen]
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10.
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15.

16.

17.
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& 1 T A Afafe S seten Wit ar 12

[What is the original name of the mobile
community named Bede or Baidya?]

A. 9HISH [Arakan] B. ¥7e2 [Mong-tong]

C. ars@ei [Rajbongshi]  D. @4l [Bedi]

AT Sz qag= AfFwiErs saftea? [Which film has
been directed by Zahir Raihan?]

A. gitrEt [Anwaral B. g@r+its [Dharapat|

C. smt @ 514l [Nodi O Nari] D. %<2 [Sutarang]

So@ FITHR Sl HTAEH *fen WA IFFCSR SIF A9
fg@? [What was the nick name of Abul Barkat — a
martyr of the Language Movement of 19527]

A. 4t [Khokal] B. 9§ [Abul]

C. wi1g= [Abul] D. wiig [Abai]

T A AL TS 2000 fe wiFH=1z @
AT T Wes F@w?[Who became the first ever
Bangladeshi to directly qualify for the Rio
Olympic 20167?]

A =3t 1@ [Shyamoli Roy]

B. cre@ig wiztaw [Mezbah Ahmed]

C. iz sz [Siddikur Rahman]

D. wiw@g ¢z 9f<! [Abdullah Hel Baki]

FoR Ao TS fGRtr gy aguEw o wfems
GFig wigEltes faree Biftra it +=0 B30 Jwzg
Faw?! [How many wickets did Mustafizar
Rahman-popularly known as Cutter Master-take
in his debut ODI series?]

A. 55 ©3=6 [11 wickets]  B. >0 ©3t=b [13 wickets]
C. 30 ©3t@0 [10 wickets]  D. » B335 [9 wickets]
IFATTCH T TS 4[AT  WRIA (A6 Aol
wite?[How many types of government notes are
there in Bangladesh now?]

A 5091  B.:I[2] C. 93] D. 8 [4]
FESEl AeTE WEEE wWEiy &eEw Foea? [How
many accused were there in Agartala Conspiracy
Case?]

A.ve [35] B. xe[25] C. v [18] D. 88 [44]
Wi 599-93 41® &? [Who is the architect of
Doel Chattar?]

A. =13 f*zwra [Shamim Shikder]

B. frg= % [Nitun Kundul

C. wiferge e =it [Azizul Jalil Pashal

D. sf&¥= =irem [Rafiq Azam]

IRFAACR (0 STRAF FS et Towg ?[What percentage
of population is ultra-poor in Bangladesh?]

A. do.¢ [10.5] B. 55.5[11.9]

C. 3.5 [12.9] D. 0.5 [13.6]

“Tm yfewmn =T Sum =@ IfEqiEme W i
weea swe fetea? [Martyred freedom fighter Shafi

Imam Rumi was a member of?]
A. <t feata=ia et [Bangladesh Liberation Force]

B. @i% 4154 [Crack Platoonl]

C. =t ¢oife=1 (8%4) [Dhaka Guerrilla (North)]

D. vi=t ¢eifg=n (wFe) [Dhaka Guerrilla (South)]
AT RN o1 FADT GFAG W@ AW &
fem=?[Who was the only female member in the

Constitution Drafting Committee of Bangladesh?]
A. @i 7iferl 2 [Begum Razia Banul

B. it (351w [Amena Begum]
C. tsami rtemi oigel [Syeda Sajeda Chowdhury]
D. =sifs oigsl [Matiya Chowdhury]

20.

21

23.

25.

01

02

03.

04.

05.

Bi! I AEYAT 28 9 Fiem?[When did Dhaka

first become the capital of Bengal?]
A. 3950 [1710] B. >0 [1610]

C. o [1650] D. dvov [1608]

IFwet @B [ QAR Iewmitm e
¥&?[What 1s the total number of Freedom Fighters
who were awarded honorary titles by the state?]

A. yae [175] B. 83V [426]

C. ¢8v [548] D. vav [676]

W TFE wdL-0¥9 AR &Y AR AHET AeHa
et == Ter?[Which place has been declared as

the SAARC cultural capital for the year 2016-2017?]
A. T5g@1% [Mahasthangarh] B. ¥1531% [Kathmandu]

C. ¢=ifo [Kochi] D. z=ife [Karachil
‘Tsyat-90’ 1?7 [What is '"Monpura-70'?]

A. @3 o [A village]  B. @=f6 g9« [A port]

C. 936 © [A novell D. 9=t fo@a [A painting]
TS SIAS (YT AT ATACH #17 (¥ 2 T3t 7w
@iota wrg F?[What is the name of the Indian
elephant which recently died in Bangladesh?]

A. T5-wfgsfe [Banga-Adhipatil

B. qtie=a A=A [Courage of Bengall

C. 3% 91=qd [Bangabahadur]

D. 9=%-¢siqt [Banga-Moitree]

WIGTSITRD (F. YA Tw IRAWCR F50% qB4S?
[Which is the position of Advocate Mid. Abdul
Hamid in the list of Presidents of Bangladesh?]
A. ¥ % [18th] B. 55 % [19th]

C. 20 9% [20th] D. 3 o [21th]

Answer Keys: . A2A3B4.C5D6.B7.D8BOY.

B 10.LA 11.D 12.C 13.B 14.C 15.A 16.C 17.C 18.B
19.A20.B 21.D 22.A23.D24.C25.C

(snweites fTEaaf@) [International Affairs]
STE AUNE G A6F? [Which one of the

following is true about Turkey?]
A. @ SR et eRiam e (It is a

member of the Gulf Cooperation Council (GCC)]

B. @t =@ =Aieiw 3w [It is a member of the Arab Leaguel
C. @6 =151 ¢&iee 5% [It is a member of the NATO alliance]
D. «ft 3Tt 28f e 3w (It is a member of the
European Union (EU)]

2030 FAIER ATAFEE TEPoF TS @- [Summer
Olympics 2020 will be held at]

A. @137 [Athens] B. (33fer [Beijing]

C. covgold [Vancouver]  D. ¢Gifes [Tokyo]

wieres 9ot T wREes?[Mount of Olives is
located in]

A. ~i/%= [Pakistan| B. 2t [Yemenl

C. caeerite™ [Jerusalem]  D. 2519 [Iraq]

= (it TR IMeEs W ee w97 [Which country
is not in the Euro Zone?]

A. g&=ier [United Kingdom|] B. #2te+ [Sweden]

C. &=z [Denmark] D. si=7=10 [All of them]
SATSd (1N ST JATE OiF FICE0 IUF &0 T
Fiqee v F@eea?[Which Chief Minister in India

has recently blamed the Farakka dam for

causing flood in the state that he/she represents?]
A. =itaa 347581 [The Chief Minister of Assaml]

B. fasjais g4rwsl [The Chief Minister of Tripural
C. =% <torq 3458t [The Chief Minister of West Bengall
D. f<zitad 3<1wal [The Chief Minister of Bihar] 15
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1Ffes R IFe o fofers «ifTmriges World
Risk Index, 2016 <@ IteEricr=t Foox Jedd omi?
[According to World Risk Index 2016, which is
based on risks to natural disasters, Bangladesh is
ranked]

A. &= [First] B. =% [Fifth] C. 1% [Third] D. T [Sixth]
e W it ‘f-v’-9a9 s wm? [Which of the
following countries is not a member of 'G-8'?]

A. ™ [France]

B. y=4iey [United Kingdom]

C. ¢mseni@A [The Netherlands]

D. s [Russial

SRS YT 71 784S A% - [The first female
president of Taiwan is-]

A. 8T A [Wang Lee]

B. 712 32T+ [Tsai Ing-wen]

C. fie f#= [Ming Kin]

D. =2 %8 p [Hung Hsiu Chul

gey w7 S goz® ww FweEa-[The first
woman to climb the Mt. Everest was]

A. wnfemoat cetataret [Valentina Tereshkoval

B. gtz ©ita2 [Junko Tabei]

C. yiaifem fata=ma [Karoline Mikkelson]

D. (%2 v [None of them]

frearts «r=eifo7 g%t 3?7 [The term 'global village'

was coined by]
A. 541 wig=natat [Robert McNamaral

B. =@ s« [Marshal McLuhan]

C. Taiw 193 [Fuad Masuml]

D. 2o ## [Evans Paul]

T BFEa 5T wde’ wifFm [{ey 9w ot @ =D?
[Which country is ranked number one in Human
Development Index 20157]

A. et [Norway] B. wiGferat [Australial

C. sret [Canadal D. sitafs=st [USA]

2055 WG fawes friwietn Staea! oot wgoe T
¢1E? [In which venue will the opening match of
ICC cricket World Cup 2019 be held?]

A. vy @94 [The Ovall B. =% [Lord's]

C. cif&m «ité=1 [Sophia Gardens]

D. = §itete [Old Trafford]

GIfSTTa 73S ¥gib3 geA- [The next Secretary

General of the United Nations is-]
A. wigfz=i at@ret [Irina Bokoval

B. 2t 716 [Helen Clark]

C. wiiteif=8 @tsta™ [Antonio Guterres]

D. =igsiw f@f [[gor Luksic]

Tt R FAEEw Fewm T F=EFs? ['Cop 21

conference is related to]

A. AfF*R wig=<Ee [Police Modernization]

B. f&¢ sigem [Global Terrorism]
C. fe At~ «ifsee« [Global Climate Change]

D. wifawm fazame+ [Poverty Alleviation]
Zerifa fFa67 0 it Wi F&vE e o7
It @ ZEe @ Fwes? [Who has Hilary

Clinton chosen as her running mate in 2016 US
election?]

A. 759 29 [Tim Kaine]
B. 12 ¢35 [Mike Pence]

C. gfern= gt [Julian Castro)
D. f@1 f@h% [Chris Christiel

16.

17.

18.

19.

20.

21.

22

23.

24

235.

s fwaal e ¢Sio 72371- [The total number
of Electoral College votes in the United States is-]
A @35 [529] B. €20 [520] C. @50 [590] D. eor [538]
‘20" (TR FAC ™ ICwR? [How many
countries are there in 'G-20' forum?]

A (18] B.3»[19] C.[211 D. 20120]

The Clash of Civilizations and the Remaking of
World Order &g & frdtzs? [Who wrote the
book The Clash of Civilizations and the Remaking
of World Order?]

A. = A =66+ [Samuel P. Huntington]

B. <5 <1 [Karl Marx]

C. f=1 fa=64 [Bill Clinton]

D. =mwref i [Amartya Sen]

‘wifsr Zem @R, W o Ifeee ok e
F=? ['T have not seen the Himalayas, I've seen
Sheikh Mujib.' -Who made this statement?]

A. w7 @¥% (31 [John F Kennedy]

B. 7= WitE=d [Nelson Mandelal

C. w1 f6t61w [Marshal Tito]

D. fFtwe S11eG 1R [Fidel Castrol

FACIET «&d GdUTS FHFA [T JH-[ACAI 09
31?[Which US fighter-plane is designed to avoid
the detection of radar?]

A. -390 [C-130]

B. =&i9 2ifsts9 [Hawker Hurricane]

C. b= [Stealth]

D. & zifeenis wwifetsi [de Havilland Mosquitol

= 7S WG 5wy 98? [Which country is not a
member of NATOQO?]

A. w5 ¢fast [South Koreal B. wegfeat [Australial
C. w#it= [Japan] D. s=&t [All of them]
& (TR IiEEEt F¥2y ooty =rs Fw@a?[Which
was the first country to allow women to vote?]

A. #eerns [New Zealand]  B. @<= g&=1@ [United States]
C. J2=iwen® [Switzerland] D. 261 [Ttaly]

wifgFR & it wiEd qfn el Teeaist wegt
AF-9 *FEFS T4 st Fae?[Which one of the
following African states has observer status in
the South Asian Association for Regional

Cooperation (SAARC)?]

A_ w4 wifFFst [South Africal

B. &g [Zimbabwe]

C. sfe=i51 [Mauritius]

D. =ngrsfaat [Nigerial

e AfATT I IS P w (@FEe? [Which is
the largest Muslim country in the world in terms

of area?]
A. =i [Indonesial

B. 2414 [Iran]

C. sieifea [Kazakhstan]

D. @iifw w94 [Saudi Arabial

FIF JgE [T w5 I= @? [Who is called the
Father of the Green Revolution?]

A. TEIE 8967+ [Joseph Watson]

B. z=fa «@ a31te1 [Henry A Wallace]

C. =tes1 1991+ [Rachel Carson]

D. g @<=t [Norman Borlaug]

Answer Keyvs: 1. C2D3C4DS5D6B7.C 8B 9.
BI10B 11.A12B 13.C 14C 15.A 16D 17.B 18.A
19.D20.C21.D22.A23.C24.C 25D 16



I IR=isg RodE-20>Y

T : GF TO1 o519 = S0
el G

01.

02.
03.

04.

05.

06.

07.

08.

09.

10.

11.

12

13

14.

15.

16.

17.

18.

19.

20.

21.

22

UccC

‘EHATN T SI-

A GERIVRIE@A B A= S0 @ @

C. SIS & Wiz 9 D. INE SR 2T @ A A
BT *Itwa we-

A gt B.gem g C.Apn D. ers 3

“One man’s meat is another man’s poison”-493
AfoF =d-

A. T I WA 41 7t B. TR8 5&l, SRS (9
C. AR I FreTm It D, *@d ¢[F e &2
Cosmic-437 “fssigl-

A. gl B. 9@ C. g7m D. Txemifes
I I FdTee foat Ftate-
A. 1 zifFt ©fom B. &1 xifswiza

C. o gifce = 5@ D. & s gy o=
“FleTaltw WM™ STTEa SoAIFE 399 FAE-

A. SIZIEE AR T 3491

B. ©I% IR (*Td M3 @I 99919

C. ¥™d AR Ceaq g
D.Wweﬁmm’h

‘e + YT G ARAIES T (67

A. Mg B. o*Fqw C. *igm D. 2i*¥q
‘gETF Wy FEl [{REm 91w RE G IR
& [Fefe?

A. Tt aift B. oW aif C. Sfg@are 93t D. e a3t
(T T B LI AT ST F) I0E?

A. ceiffeegs B. g1l C. @iffesigis D. s
FeraTy ferery Wit -vadaw Retadt aumne:

A. a0 B.#2® C.feaD D. sr@fo
“OFrIT g - 9T SR (G I (@OIS (@92

A oo, g1, 350 B. wifewsjg, MeNiEs, 2500
C. 250+, wifemag, I D. 2xiow, Feass, gfeem
M eTAehR “aFB Tee item IRl (=i
¢TI ST S1TeRR #Ifdt TR &7

A Tm B.aaime  C.wEew D. 289
RATYF NI 9 (F62

A fsafes B.Fe. e C.we 3w D. o550

e <R FiEE/oa oF arr ' -Fm v

A. &iteag B.awtgs  C. 999 D. #iites
“S4E” J9TE BER Witk (PN (AT CNCEAl &Sl
FARIEE (g4 o= 72

A Z@m  B. Afesm C. o1 D. 5=
F9-7g3- 2% 8 Feehw B Feate i FRom?

A B.agemmme C.Ea-gwa D, Ager
-9 &I T9H?

A. %% B.wess  C.3gqik D. fee

‘T’ -9 e -

A wioele B.ersds C. ot D. o=

J e O (3, 9 [AET ARG -, IRATE @ T IEA?
A. 9, (TSl &AH B. #iyret, @it e

C. grfss, Aideife gxexr D. @@, o7 dwiee

“Tele 9" IETieE ‘sl Aita e IE-92 pRed
AR 53 (FIH0?

A. (0o e B. =¥ colta o1 99
C.am4dFie@mma D. e s 7z s
FIETS’ (FIN SIEE =-

A “ghte  B.wgges  C. P D. ==

T faE i’ -wmieTs e 9@ ST TeE IS
JCACR-

A e B.apite C. g€ (AR D. A0

. IR > g > wIN *ite {eea gt (@eia-
A. 5 2l It g B. b gike At et
C. o fas @@ i D. dibe 9fGs A it
24. =7 I 67
A. w4 B. Fizgw  C. siifew D. fepist
25. oF T AFES 9 (FEAG?
A. TGE, TFAE, 927G B. ©5E, 9T, agtTe
C. g, =g, AfFge  D. 4fdazw, 7§, &9
Answer Kevs: 1.B 2B 3B4D 5D 6B 7A 8A 9

C
10C11.C 12D 13D 14B 15 A 16.C 17.C 18.D 19.A
20D 21.A22C23.C24.C258B

ENGLISH

Read the following passage and answer questions (1-5):
Use of electronic mail (e-mail) has been widespread for
more than a decade and a halt. E-mail simplifies the flow
of 1deas, connects people from distant offices, eliminates
the need for meetings, and often boosts productivity.
However, e-mail should be carefully managed to avoid
unclear and 1inappropriate communication. E-mail
messages should be concise and limited to one topic.
When complex issues need to be addressed, phone calls
are still the best.
01. Which of the following would be the most
appropriate title for the passage?
A. E-Mail’s Popularity
B. Appropriate Use of E-Mail
C. E-Mail: The Ideal Form of Communication
D. Why Phone Calls Are Better Than E-Mail
02. The main idea of the paragraph is that e-mail
A. causes people to be unproductive when it is used
incorrectly
B. has changed considerably since it first began a
decade and a half ago
C. 1s not always the easiest way to connect people
from distant offices
D. 1s effective for certain kinds of messages but
only if managed wisely
03. The word ‘eliminate’ means
A. establish B.initiate C. remove D. setup
04. The word ‘productivity’ is a/an
A. adjective B.adverb C. verb D. noun
05. The passage suggests that e-mail messages should be

A. unclear B. clear-cut
C. detailed D. frequent
Choose the correct preposition (6-7):
06. He felt bad -------- no reason at all.
A. of B.on C.in D. for
07. The train to Rajdhani departed the
platform.
A.from B. at C. with D. on
08. The synonym of the word ‘tumult’ is-
A. commotion B. composure
C. calm D. tranquility

09. The antonym of the word ‘sombre’ is-
A_sleepy B.bright C.drab D. dismal
Choose the word that is closest in meaning
to the word in italics (10-12)

10. Bangladesh has made considerable progress
in the last few decades.
A. trivial B. amazing
C. absolute D. significant

11. The Taka has dropped by three poisha against
the dollar after being sfeady against the
greenback for more than eight months.
A. strong B. stable C. fixed D. certain

12. We have been able to disburse over 20 percent
funds allocated against the World Bank endorsed

project.
A. distribute B. procure
C. spend properly D. collect

17
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Choose the best option (13-15):

You can Zaman to get the job done.
A.calloff B.holdon C.givein  D.counton
Come , She will not change her mind.

A. whatever B. what may C. which may D. off it

If I thought I could it, I wouldn’t pay my
taxes at all.

A. get away with B. put up with

C. do away with D. grow out of it
Choose the correct pronouns (16-17):

Leap years, have 366 days, contain an
extra day in February.

A.that B.when C. where D. which

Nazrul, —is our national poet, was also a soldier.
A.whom B.who C.he D. what

Choose the Verb that agrees with the subject (18-19):

He —the ball so hard that it flew over the tree.
A. hitted B. hitting C. hit D. hits

Each member of the large family
set of priorities.
A. has
Complete the
choices (20-22):
A local company has agreed to
team with football shirts.

A. contribute B. give C. supply D. produce
I really enjoy stories that are
A. set B. found C.put D. positioned

I think I've made our position very
A. clarified B. clear C. clearly D. cleared

Which of the following sentences is correct (23-24):
A. Do you know who the house belong to?

B. Do you know whom does the house belong to?

C. Do you know to whom the house belongs to?

D. Do you know who the house belongs to?

A. It was an error of judgment.

B. It was a mistake of judgment.

C. It was a wrong of judgment.

D. It was a gaffe of judgment.

Choose the incorrectly spelled word

A. conscientious B. preseverence

C. committee D. connoisseur

Answer Keys: 1.B2C3C4D5B 6D 7.A 8.A9B
10.D 11.B 12.C 13.D 14D 15.A 16.D 17.B 18.C 19.A
20C21.A22B 23.C24 A258B

Feerioa= REarfE (Bangladesh Affairs)
Bt (IR SRge Ifege wquEa w1 <17 (What

is the name of the liberation war museum located
in Dhaka Cantonment?)

A. faerm’ay (Bijoy’71) B. @&t (Ullash)

C. fa&m @e+ (Bijoy Keton) D. @fezy (Qitijya)
IFE @ T wegig e w9 (The
International organization of which Bangladesh

is not a member is)
A. 7% (SAARC) B. 5@ (ASEAN)

C. 1 (NAM) D. fe-v» (D-8)

(TPEF-97  TR-AfSSt &  FEmorn?  (Which
Bag%gdeshi is the co-founder of Facebook?)

A. 9s 5191 (Amit Chakma)

B. Tt zrrwa 9299 (Zia Haider Rahman)

C. A= 919 (Salman Khan)

D. wierm F«H (Jawed Karim)

e = et It e s’ e s
z4? (Which day is observed as the ‘Constitution
Day’ in Bangladesh?)

A. 8 ts89 (4 November)

B. Sy f&w®a (16 December)

C. »a @fg= (17 April)

D. 52 5899 (12 October)

his own

B.1s
statements

C. have D. are
with appropriate

the school

in the distant future.

05.

06.

07.

08.

09.

10.

11.

13.

14.

15.

@IS TEIEEE 94w w9 91?7 (What is the present
name of the Ministry of Communication?)

A. e TF41=® (The Ministry of Bridges)

B. Wga <iffazs 8 g w¥diErm (Ministry of Road
Transport and Bridges)

C. cig-@rie 35 (Bridge-Communication Ministry)

D. 315% “ffsazs W&t (Ministry of Road Transport)

TSI wfETeE Rt o0 AT 5 w9? (How many

members of the current cabinet are women?)
A4 B.5 C.6 D.Nil

&? (Who set the song ‘amar bhai er rakte

rangano’ to music in its current form?)
A. I=erE Jizgw (Altaf Mahmud)

B. =i5# sifs® (Abdul Latif)

C. =i7g= sirgwia lgal (Abdul Gaffar Chowdhury)

D. 399 wiA (Samar Das)

FiereE fEEPs i <tse s[awie F11%<F? (Which
sector has the highest contribution to the Gross
Domestic Product (GDP) of Bangladesh?)

A. 3 (Agriculture) B. g (Industry)

C. &3t (Service) D. #ifeaz= (Transport)

™R Qe FREGF “IF @R [ z3? (Where will the
country’s first high-tech park be set up?)

A. ﬁﬁ%@! @t (Birishiri, Netrokona)

B. reaizet, GiereAEnd (Lauachhora, Moulvibazar)

C. =idi=#i7, srota (Nabinagar, Savar)

D. siferitas, sirei=@ (Kaliakoir Gazipur)

“HT TS ST AN IS W (@FT QoA AEL F
frrites? (Who wrote the book The Rise of Islam
and the Bengal Frontier?)

A sfFm=t ¥ (Oriana Fallaci)

B. =161@ 3% (Archer Blood)

C. 4518 ©== (Richard Dawkins)

D. fa51% 264 (Richard Eaton)

T3 TFFF pF 008-9 IRFC wZF F5? (What
is the rank of Bangladesh in Human

Development Index 20147)
A. 145 B. 142 C.141 D. 140

19 @fgE, 359) T IR THFES *oie ARt wIHiE
A=t @ &7 (Who conducted the oath taking
ceremony of the Mujibnagar Government on
April 17,19717)

A. siEewmi« wizaw (Tajuddin Ahmed)

B. cirzrw 289% Wl (Mohammed Yusuf Ali)

C. 9tav=1 w9« (Abdul Mannan)

D. ¢ = 299 (Syed Nazrul Islam)

FIRACT* FRATSE FATFT TG TP SIS G
HgEE F97 (According to the Economic survey of
Bangladesh what is the expected average lifespan
of its citizens?)

A.60.5 B.70.5 C.70.7 D.80

oiFt Frifwme SyaesE 4949 gae "1 g F? (Who
was the first female student to study at the
University of Dhaka?)

A. @ HFa 3e (Begum Sufia Kamal)

B. ==t =et (Lila Nag)

C. difseret euttawia (Pritilata Waddedar)

D. iz=idt 29 (Jahanara Imam)
HRGARGH (FIH ¢F6a T77° <4 (ISBN is used to identify)
A. 556 smF (Software)  B. miesmi| (Hardware)

C. 5@ (Periodicals)  D. 92 (Books) T



16.

17.

18.

19.

20.

21.

22

23.

24.

25.
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FefE 77 &M & wafEs? (In which district is
Kantaji Temple situated?)

A. gfm@t (Comilla)

B. =@ (Dinajpur)

C. w397zt (Joypurhat)
D. s (Rangamati)

G IEACR Q4T S gEedtsE? (Which one
is the first floating hospital in Bangladesh?)

A. Re=¢97 <9 (BNS Padma)

B. @i=+ <4 (Jibon Tori)

C. zage =iixen== (Hazrat Shahjalal)

D. siig%<y (Lifebuoy)

e fadhn SRR w7es Witk Go*Mt @ 71?

(Where will the second submarine cable landing
station of the country be?)

A. gi96] (Kuakata)

B. &3t (Cox’s Bazar)

C. 7ouifo (Sain Martin)

D. tr=#i3=1 (Tangail)

ROt 00 999 ¢ TRTSIF (IS ¥ z9? (Who

15 the o i‘ﬂ% foreigner to be awarded ‘Bir Pratik’?)
(Mark Tully)

B. i @ (Andre Malraux)

C. ¥m1 3019 (Father Regan)

D. ©aferm Seeni®s (William Ouderland)

W Q4 OTEre A 5 F@ &I I[F? (Which

bank was the first to launch agent banking in the

country?)

A. (IF (Mercantile Bank)

B. 37i% @7 (Bank Asia)

C. 2551+ 97123 (Eastern Bank)

D. @< 9515$ (Brac Bank)

FreEcTt 8 SETey AggHE [ty Feeiten gt @ &

FwEes? (In which court was the case of the

Maritime boundary dispute between Bangladesh
and India filed?)

A. (&S A SMETS (Geneva Arbitration Court)

B. T3 [eR wmiee (Nuremberg Trial Court)

C. 3@ #fFE" wwEe (GwiEenss)  (Permanent
Court of Arbitration (Netherlands))

D. 1 ToR=EE wRRErE 316 (The Hague
International Court of Arbitration)

At AT e B @- (VAT was  first
introduced in Bangladesh in)

A. 1996 B.1986 C.1991 D. 1973

AT TN ISY0T FO6 9 ST SIwd W=
TR &0 AT JOF (ST Sae ! (How
many women freedom fighters received the ‘Bir
Pratik> Award for their contribution in the

liberation war of Bangladesh?)
A5 B.7 C.10 D. None of them

IMEreE Rz Q@ wel @ 4197
‘Ganagen’  Srasd I@ees? (Which  animal’s
genome was first sequenced by Bangladeshi
scientists?)

A. 5% (Cow) B. =23 (Buffalo)

C. =¥t (Sheep) D. 3@ (Hen)

IRATAC oo IRGEA YLFTAT Iq1 (FEHE #ineT
¢*it’? (Where in Bangladesh has a 200 year old
coin been found recently?)

A. Baited S=en=E (in Kansona, Ullahpara)
B. kieeR srR A (in Ganganagar village of Akhaura)

C. =avia (irz==ity (in Mohanganj, Iswardi)
D. #19=119 (3%t (1n Bera, Pabna)

Answer Keys: I.C2B3D4A 5B 6B 7A 8B 9D
1I0D11.B12C13.C14B 15D 16.B 17B 18.A 19D
20B21.C22C23D24B 25.B

01

02.

03.

04.

05

06.

07.

08.

09.

10.

11

wweires faaaaf® (International Affairs)

2022 AtE Tt frgsiotn wass ot (mie? (Which
country will host the FIFA World Cup, 20227?)

A. 3req (Quatar) B. =+ (Japan)

C. w9 ¢@ifaal (South Korea)

D. W7] wWifw@are (Arab Emirates)

FIRATAC g Rear ©. wigw g & e
T 9! (In which university does the
Bangladeshi Physicist Dr. Zahid Hasan work?)
A. zrer6 (Harvard) B. &%+ (Princeton)

C. 2= (Yale) D. 3=t (Columbia)

AATET 03¢ AT G T i TEvs SRt
FI 7w <ifafes? (The recent Nepal earthquake in
April 2015 is known as)

A. ¢oir491 ©fie= (Pokhra earthquake)

B. fowzw ©fi@=+ (Chitwan earthquake)

C. ooirdi effie=+ (Gorkha earthquake)

D. 7sisrew fie™ (Nagarbhum earthquake)

o8 Fweaa (6 3% €i9t? (The number of articles
in CEDAW is)

A. 20 B.25 C.28 D. 30

e Pre wiea W i Iowd F@? (The little
Syrian boy, Aylan Kurdi, died in the)

A. g34q7 #i5i9 (Mediterranean Sea)

B. sy=if#ai« #isia (Caspian Sea)

C. 3% %7 (Baltic Sea)

D. sige 721919 (Indian Ocean)

RN AFYTSS vow A6 k- (The ongoing
crisis in Europe is-)

A. =¥ 56 (Water crisis)

B. w<ta7ss 71236 (Economic crisis)

C. wifest® %&b (Ethnic crisis)

D. sifeqi #1e6 (Migration crisis)

‘o315 =% 19" Fm wafgs? (Where is the ‘Statue

of Peace’ located?) .
A. 7sife (Nagasaki) B. 78 336 (New York)

C. == (London) D. 31 (Pisa)

i P gt B3 e g @ ? (The US
President Woodrow Wilson became famous for his)
A. Bp w7 f=i=1G 9%@1 (Statue of Liberty Speech)

B. 38 w¥ (9=l (Fourteen Points)

C. 9-z30%9 &g (Theory of Non-Interference)

D. F=io2 7% (None of them)

@FE @t W@t [ TEEE weoe w17 (Which
country is not in the Eurozone?)

A. Zife (Ttaly) B. & (Germany)

C. ™ (France) D. ¥&4q& (United Kingdom)
ot fFtFb 2035 WG 73- (The 2019  Cricket
World Cup will be held in-)

A. 23S (En gland) B. weGEEl (Australia)

C. wi ===t (South Africa) D. Weferns (New Zealand)
“TIgSt, A 8 \ey (T 2w e f&=? (Which
revolution was based on the motto ‘Liberty,
equality and fraternity’?)

A. B @29 (Chinese revolution)

B. W%+ 929 (American revolution)

C. = 929 (Russian revolution)

D. wa#l @23 (French revolution)

ALS @RS FEEEE 29 qZ@ &7 (Who is the
first female Nobel laureate in literature?)

A. =1 3% (Pearl Buck)

B. =1 (@7is=E (Selma Lagerlof)

C. cifemt et (Grazia Deledda)

D. fiaw Twew (Sigrid Undset) 19
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14

15.

16.

17.

18.

19.

20.

21.

22

23.

24.

UCccC

TRfE AT A9reis wgoe 2eue Ay F@d F1? (The

prime reason for the recent referendum in
Greece was to)

A. 23T w15t (leave EU)
B. 2@ &« w77t (leave eurozone)
C. ¥4 956 @il (face the debt crisis)
D W W (oust the government)
e Wt 7=AFs? (The ‘Black
Mun is related to what?)
?JTGﬁﬂYG (Politics) B. %53 W36 (Stock-market)
C. +f@ta* (Environment) D. 3&#™W (Terrorism)
"o 97 W9 woed i =[kEs? (Where is
BIMSTEC headquarter located?)
A. 31791g (Kathmandu) B. 97155 (Bangkok)
C. Taim@ (New Dilhi) D. it (Dhaka)
‘qrerst 2y I [y gt gzt F@? (Which world
body adopted ‘Agenda 21°7)
A. ﬁﬁﬁ (UN) B. ufEt (ADB)
C. f@ =153 (World Bank) D wifgefes (WTO)
"GTI| (I, 8T (AT’ -9 1T & ot FeaCR? (“One
Belt, One Road” was proposed by)
A. 11@?@ (USA) B. @@ (Russia)
C. @@ (India) D. o (China)
29 <wwg pfE TTHe IR & ArF Jex? (Iran

signed a nuclear deal with)
AP5+1 B.P5+2C.P5+3 D.P5

1%+t = (ve<ia Areist? (Pristina is the capital of)
A. @ (Croatia) B. wfe@t (Georgia)
C. c@Peif==t (Macedonia) D. 3wtsi (Kosovo)
FF5 it 93 99 7% F1? (BRICS BANK is now
known as)
A =g au« 991¢@ (Asian Development Bank)
. ORw w)Seen [Fme 9mee (Asian Infrastructure
Invesnnenl Bank)
C. =3t Gg3+ q11¢s (New Development Bank)
D. 7191 %7 991tF (New Millennium Bank)
& (T @ 2T S TIETOE ¢o mﬁ%ﬁmﬂﬂw
(Which country is celebrahng the 50" year of its

mﬂependence Is year?)

A. =53 (Singapore) B. grwitatan (Indonesia)
C. witeicafra (Malaysia) — D. /i2=01® (Thailand)
I EE Sy viF ey afse o ewgeld
ofiFt oitFs F@a? (Which British Viceroy played
an important role in establishing the University
of Dhaka?)

A. =16 761 (Lord Minto)

B. =1¢ 1%+ (Lord Curzon)

C. =% 55ei® (Lord Chelmsford)

D. =1% %iféa (Lord Hardinge)

e REM a993p-990 WFT RIARCIET FT@w hedl
TE- (Debris of the missing Airplane MH-370

were found in)
A 915+ %tet (Bartolome Island)

B. 7@ @& (Santa Cruz)

C. &= 4itel (James Island)

D. 3% %t (Reunion Island)

H7E @ F1E? (Subic Bay is located in)

A. wgg gerAnA (Central Europe)

B. wi5-9< «f*mm (Southeast Asia)

C. W< &it53 (The Middle East)

D. =1fe<ry W= (Caribbean Region

& 0T I -9 ﬁﬁﬂ'nﬂﬂa%%vsw (The British
rule was established in Hong Kong following)

A. 37 3% (Boxer War) B. ¢lo*+ 1% (Atlntmn War)

C. 5 & (Opium War) D. =1 & (Water War)
Answer Kevs: 1A2B3C4D5A 6D 7.A8B9D
10A11D12B 13 C14B 15D 16.A 17D 18.A 19D
20.C 21.A22.D 23.D 24.B 25.C

IS RY_Rvwi&Eg 2038-20>G

01

02

03.

04.

05.

06.

07.

08.

09.

10.

11.

13.

AT S T (CTB-) UGLIC Y
T

e (P STl (AT TS =577

A. ¥ . AFS

C. cArgiie D. =@

‘CTeR o4 F{erm F faweim?

A I B. (5oaf

C. o1 fare D. g

T AGANT FAAFICET 97 FS7

A. O 9999 12 T

B. @33 3597 2 W (97 W

C. @31 997 92 T (o9 v+l B17 901

D. ¢ IPE U2 T (99 WA 51d 961 A6 [0
TR IS T FIE YH-CSEAL AR Y ICECRA?

A B. =rsf

C. 9may D. (=l (ItH

‘e ¥ 5 A |1 —— I WEEe *w g &
AT AL ?

A. FACAT <A1 B. AI9_16% A

C. wf#fwa Hdem D. #rg=iifas A9

‘FewE st w2 J@g 1" — IIoa HiEeErst’ &=
FaF?

A. =3 B. wfgat

C. SI*w= D. =
'Self-preservation is the first law of Nature.' —

S SEE Q-LI5A0T AT Tgwe I AIBA—
A. =19 gate o9, AEaq s 19

B. BI5t Wi+ &jiel 961

C. 19 Siteft 1ites @

D. w97 131 cente G

Rt Sol-ge == 73 FEi0?

A. 3T B. frafesi

C. T[E= D. sia=ite™

JCFTR AMSTANS I ZoF FACF I —

A. “m&y B. S

C. 9iTs D. csiret

‘@5 TEA! SRR FRAT SITF FEAILIY 8 FRICHAAA biaa

FRB?

A. VTR B. wfen

C. 3897 D. I3

ST IR IACA (727

A =¥ B. fe=mi C. A= D. wE#Hm
EFE “mifdrs o 37

A 5T B. @bz C. iffz D. <t

‘06T 4l (AT (RS SIiw TWA, T YIRS BOILCS
BIZE E || — I THAE TN S?
A. FiETSy &= B. @R_g A=

C. €= D. svEEs eaea v BT



14

15.

16.

17.

18.

19.

20.

21.

22

23.

24.

25.

TS TfierE 0 -5A0I T tEE *Ita wd-

A. T g s B. MeEH7 Jora tofa e
C. SF tofd 9% [ D. 7gires
wqeE! A BHIaT (A0 ?

A ST B. ssi

C. a3sisit D. Sqsisit

(FIN *oR AALE?

A. B, e, afeFE, Wi

B. TR, 97, %S, qroH .

C. wig=rel, 45s], I@l, el

D. FifsEl, *&41, =8, =71
‘stiE>stal’ (W YA |iA-AASq?

A. T@neite B. f[Aadieaw

C. wsaad D. Fiegw

'‘drop-scene’ -

A. #ifsresiey fog B. weioree

C. Taf1-7ew D. y*iied

=4 I5AE SRS SHNImR @R -

A s B.ANeRl C. o D. wrig
TR’ *MX ‘T -9F ACK T ZCACR-

A %39 B.%3M C. T3 D. 891
‘qfet’ Trm-

A AITRABS =% B. #ReRI6S %

C. sifzdaivs == D. S 5163 =<

e & wfaere F4am?

A. T3 B. o1 C.?1 D. s
B’ Bepicaiet sifos o = gt a4ge?

A. B B. B

C. & D. &g

Tt T TN ok ot & =it TigE? I=ie-

A. 7 B. =

C. wfo= D. 1=

‘ceeoE T (igBt 9o I I I I (I A
HE(S?
A. tz=E! B. &

C. @30 ool At i D. G IR g

Answer Kevs: 1D 2B 3D 4D 5A 6A 7B 8B 9.C
10B 11.A 12.B 13.B 14B 15A 16.A 17D 18.C 19.D
20A21.B22.A23.D24.C25.D

GENERAL ENGLISH

Read the following passage carefully and then answer
Question (1-5):

A second green revolution is imminent in Asia. It will not
be the same as the first one, since it will not depend on a
few miracle varieties of wheat or rice but on adapting
existing seeds to different environmental conditions. This
second revolution promises to bring similar benefits
though this time to poor lands and poorer farmers that
were not covered by the first green revolution. Such
lands are poor because they are prone to floods, droughts

UccC

salinity. New seeds have been developed which can

survive flooding and tolerate drought and saline
conditions better.

01.

02.

03.

04.

05.

06.

07.

08.

09.

10.

11.

The best title for this passage is:

A. Agricultural Miracle in Asia

B. New seeds Being Planted in Asia

C. Second Green Revolution in Asia

D. Adapting Farming to Environmental Conditions
in Asia

An antonym of "imminent" is:

A. pending B. forthcoming
C. eminent D. distant

The tone of this passage is:

A. pessimistic B. hopetul

C. suggestive D. skeptical
To be "prone" is to be

A. vulnerable B. ready

C. organized D. equipped

The title suggests that the key to the second green
revolution will be to come up with seed varieties
that are:

A. adaptable B. susceptible

C. changeable D. variable

Which of the following sentences is correct? (6-10)

A. The two parties have different views to democracy.

B. The two parties has different view of democracy.

C. The two parties have different views of democracy.

D. The two parties differing on democracy.

A. The country has adopted a new 1industrial policy.

B. The country has adapted an new industrial policy.

C. The country has effected the new industrial policy.

D. The country has affected new industrial policy.

A. Over a billion people using Microsoft Windows
operating systems.

B. Over a billion people uses Microsoft Windows
operating systems.

C. Over a billion people use Microsoft Windows
operating systems.

D. Over a billion peoples use Microsoft Windows

operating systems.
A. Whom does the book belong?

B. Who does the book belong to?

C. To whom do the book belong?

D. By whom does the book belong?

A. Were have you born? B. Where are you born?
C. Where were you born? D. Where had you born?
Choose the word that is closest in meaning to the
word in italics (11-12)

The private hospital business is booming in

Bangladesh.
A. flourishing B. bursting
C. improving D. filling

The government has also decided to concentrate
on improving the quality of healthcare.
A. focus B. conceptualize

C. strike D. deliberate
21
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Answer the guestions according to the instruction
provided (13-14)

The verb form of frauma is:

A. traumatic B. traumatically

C. traumatized D. traumatize

A radiologist 1s most often employed in:

A. power plants B. workshops

C. finances D. hospitals

Fill in the blanks (15-21):

Let's discuss the ways of improving the
basic skills of English.

A. about B. on

C. no preposition needed D. of

One-third of the students present in the
class.

A.1s B. are

C. remains D. do not

Each of the students who filled out the admission
form the test.

A. have appeared at
C. are appearing at D. 1s appearing

To discover 1s about something that already
exists, but to invent is something new.

A. to know, to find B. to create, to learn

C. to learn, to create D. to find, to know
"Well" is usually an adverb and so describes —
——, but when it refers to health it can be an
adjective and describe —.

A. Adjectives, Verbs B. Nouns, Pronouns

C. Adjective, Noun D. Verbs, Nouns

Much as Rome — roads through Europe in the
years of the Roman Empire, Britain —— railways
and strung telegraph wires in India.

A. had built, built B. built, built

C. builds, 1s building D. had built, was building
We are moved not by the fall of great man
but the elevation to heroism of what we had

B. has appeared at

taken to be little man.
A. a, the B. the, the
C.aa D. none of the above

What is a proper antonym for 'waver'?
A. determine B. sway

C. vary D. develop

Choose the correct translation of the following
sentence- " THFT @ feew [Ffva €t i -
A. Mir Musharraf Hussain was a miscellaneous writer.
B. Mir Musharraf Hussain was a versatile writer.

C. Mir Musharraf Hussain wrote descriptively.
D. Mir Musharraf Hussain was a wonderful writer.
Choose the correct spelling:

A. mongose B. monngose

C. mongoose D. mongosse

What is the synonym of the word 'tacit’?

A. spoken B. implicit

C. open D. written

Answer Keys: 1.C 2D 3B 4A 5B 6C7A 8C9B
10.C 11.A 12.A 13D 14.D 15.C 16.B 17.B 18.C 19.D
20,A21.C22.A23B24.C25.B

01.

02.

03.

04.

05.

06.

07.

08.

FiErm= =izl [Bangladesh Affairs]

IEH TYED (T &y w1igs? [Varendra Museum
is located in the district of]

A. 71871 [Naogaon] B. sreri2l [Rajshahi]
C. w97z [Jaypurhat] D. =it619 [Natore]
FI 5aoetd d589-93 cw=tstst fagg fAf®? [Which film

is made on the partition of 19477]
A. F=f*% [Juddhashishu]

B. 9|9 ¢ofql W99 2 [Abar Tora Manush Ha]

C. ot sm17 #iite [Chitra Nadir Pare]

D. sia 7w 9gafs [Nadir Naam Madhumati]

et fRwmEem fiws fiew = Reami? [Which
scientist was a teacher of Dhaka University?]

A. wimi*5% 99 [Jagadish Chandra Bose]

B. Fitery«id 99 [ Satyendra Nath Bose]

C. 937 AfFE [Abdus Salam]

D. o5& Fwa [Abdul Qadir]

TITHIM FIGE I 4iHEm 8 FWIES WP (FEH?

[Which one is the biggest religious and social
festival of the Chakmas?]

A. 53 [Bijhu] B. @gstie [Wangala]

C. 9itH [Sandrey] D. i [Sangrai]

‘Tt 8 T BeereTe weiEe! &2 [Who is the writer
of the novel titled 'Nadi O Nari?]

A. Atw3 49 [Sadek Khan]

B. gy ¥f@d [Humayum Kabir]

C. 31&! w5ge 8q% [Qazi Abdul Odud]

D. tsaw sarerearg [Syed Waliullah]

it 37 w9 @9 AW S IR N
cAtamitea?[ Which Bangladesh player's name has

been included in the Guinness Book of Records?]
A Et 4rge [Salma Khatun]

B. 7€l =ifw [Rani Hamid]

C. *IaRm wide® [Sharmin Akhter]

D. &Rl &1 [Zobaira Linu]

gffe ¢ it oFta I 9FHE AF ST Y
&W6? [Which one is the only weather forecast
center in Bangladesh for forecasting cyclones and
disasters?]

A. = [SPARSO]

B. =7 [NASA]

C. g [WHO]

D. w2, 28.F.9v. [[UCN]

FH-JOIBIA GeTel (ATF IRFATTC Toqen 9F9a T
Rea" ey fewst & fEm? [Who is the only
Indigenouns Freedom Fighter of Bangladesh, having
the title of ''Bir Bikrom"'?]

A. I IF91 [ Arup Marma]

B. fa=eet st [Jhillanja Marmal]

C. J3® i1 [Sukanto Marma]
D. Saifbe W=t [U Catching Marmal]
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10.

11.

12.

13.

14.

15.
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oo Qieed ZiE 9 F1? [What is the local name

of Saint Martin Island?]
A. 7fata= wfgar [Narikel Monjira]

B. viifats= femfeal [Narikel Bagan]

C. =iifstF= qreit [Narikel Batasha]

D. =ifate= qtsite [Narikel Bagan]

st Faie wiw 7 1?7 [What is the initial name

of Lalbag Fort?]
A. I[@3 991 [Fort of Babar]

B. gty 7l [Fort of Humayun]

C. =nea=am 75 [Fort of Awarongobad]

D. WiwaEd 77 [Fort of Akbar]

TZEra T IRECR ALY geieees e 7 [Who

is the First woman from Bangladesh to conquer

Mit. Everest?]
A. f=ite srgEmig [Nishat Majumder

B. suifE wef== [Wasfia Naznin]

C. wigfa= 2= [Irin Haque]

D. siifwai =ffafs == [Sadia Sharmin Shompa]

frie-y @6 F@ v@e? [When did the launch
Pinak-6 sink?]

A. R II595, 2038 [2 August, 2014]
B. 8 =I5, 2038 [4 August, 2014
C. & &5, 3038 [6 August, 2014]
D. v =Ii595, 2038 [8 August, 2014
FRETT IR AT “stez” & eEm? [Who was the

First "Governor" of Bangladesh Bank?]
A. ©. Wf$33 729 [Dr. Atiur Rahman]

B. @ @7 2@z [A. N. Hamidullah]

C. g =R [Abdul Hamid]

D. ©, (==m TAFSHA [Dr. Mohammad Farashuddin]
FeRTe TRFEs wdTE & REw? [Who was the

Finance Minister of Mujibnagar Government?]
A. =791 289% W&l [Professor Eusuf Ali]

B. @9 559@ W= [M. Mansur Ali]

C. wierefwa wizeam [Tajuddin Ahmed]

D. trm weee 29 [Syed Nazrul Islam]

S I TR FEA g7 Sfeges 7o F@=? [When
did Lord Curzon lay the foundation stone of

'Curzon Hall'?]
A. Sdob HAEF 38 (A4 [14 February 1906

B. d»o8 A=A 38 (vl [14 February 1904
C. 538 AN 38 w@wifd [14 February 1914
D. 8934 o2 79 [None of the Above]

A

16.

17.

18.

19.

20.

21.

22.

23.

FET TerEe AT (=i AT VAR 7y F? [What

is the name of the first novel written by Kazi
Nazrul Islam?]

A. Sf3-<diet [Agni bina]

B. <i¥=zi9 [Bandhanhara]

C. 7t&7 @+ [Rikter Bedon]

D. =<t [Kuhelika]

‘SR’ *=io 17 i 7=+1fF® [The word 'Mahasen'
is related to-]

A. 7@ [Cyclone] B. 5%tel [Tornado]

C. of@™ [Earthquake]  D. <=1 [Flood]

qFA IREmH 7T 6% foee sRe e FEee

[The only Bangladesh to score a double century
in test cricket-]

A. =g [Ashraful] B. TIf%Fs [Musfiq]
C. wifim [Tamim] D. wzas [Alok]
JeETACt BIFE wigEd (FE wIES [Where is the

'"Taka Museum' of Bangladesh located?]
A. IFTA= AT A4 =<1, Sfsfa= [Principal Branch of

Bangladesh Bank, Motijheel]

B. JiEort e @i waieef, fime@ [Bangladesh Bank
Training Academy, Mirpur]

C. ™ 2APBI0Ss W4 qItF  WTEs, a7d
[Bangladesh Institute of Bank Management,
Mirpur]

D. <ieit= wrey eriyes, *zaiet [Bangladesh National

Museum, Shabag]
ez @3® i F fem? [What was the real

name of Sirajuddaula?]
A. Tt cirzEm [Mirza Mohammad]

B. faretl <es [Mirza Alam]

C. e 4fe@ [Mirza Khalil]

D. Teq e [Mirza Azam]

IRACTR SOF AT @ w@w< &? [Who is
the English translator of Bangladesh National
Anthem?]

A. 33/=12 4133 [Rabindranath Tagore]

B. tEm =&t sz [Syed Ali Ahsan]

C. =fe5 ¢digdl [Kabir Chowdhury]

D. T zifee@ =@ [Hasan Haffzur Rahman)]
‘HEEE TeTE WA wEE Foew fGrem? [How
many were accused in 'Agortola Conspiracy
Case'?]

A. 9ot [35] B. vy [36]

C. 9o [33] D. w8 [34]

IR JRACT 8 SIAST J04T Hal pre IrFR 1?7 [Who

was the Friendship Treaty signed between

Bangladesh and India?]

A. 55 W6 $%93 [19 March 1972
B. 35 o6 3599 [19 March 1973
C. 32 96 3599 [27 March 1973
D. 3V TM6 3548 [26 March 1974
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02.

03.

04.

05.

06.

07.
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SieEFe W tofdw IR @R Aesa? [Which
organization has the program of producing
'Enlightened men and women'?]

A. 79 7iifees (@9 [The Viswa Sahitya Kendra]

B. 3= [BRAC]

C. ot [ASA]

D. &tdie 71w [The Grameen Bank]

fss @m oS IEmet =™ F@ a1? [Which of
the following ethnic people do not live in
Bangladesh?]

A. 14139 [Rakhain] B. wf"+{fd [Monipuri]

C. 415 [Khashia] D. =isit [Naga]

Answer Keys: 1B 2C 3B 4A 5B 6D 7A 8D 9B

10C11A12B 13B 14B 15.B 16B 17.A 18B 19.B
200A21B22A23A24 A25D

wwe s e [International Affairs]

Feefes Ry IFEGTSt o SFEET FICGE AT
*Z7 TR [According to the latest global livability
index the most livable city in the world is]

A. fs@t [Vienna]  B. @@&@ [Melbourne]

C. @ [Dohal] D. #1=? [Shanghai]

FTEAT NCHAT YRR FAIR IS AT F1?
[The official residence of the Australian Prime
Minister in Canberra is]

A. 2ggi=i [Yuralla]

B. 5ol 2184 [Opera House]

C. ' @& [The Lodge]

D. W11 [Manukal]

SRUST FSH AT (SR (FI AenT =t &=?

[India's youngest state Telengana was a part of:]
A. =Fm* [Andhra Pradesh]

B. wifiEatg [Tamil Nadu]

C. 30% [Karnataka]

D. ®femt [Odisha]

G WFIET A9 FAm? [Where is the tomb of

Emperor Akbar?]
A. 36 [Amarkot]

B. =il [Agra]

C. =gl [Sekandra]

D. wreozq 7@€l [Fatehpur Sikri]

FEYAT T At FEE i A=9? [Who was the

first woman to fly into space?]
A. =191 356 [Olga Korbut]

B. Siitawioal csta*iterel [Valentina Tereshkoval]

C. sifeai=i e [Tatyana Kuznetsoval]

D. &= Fi@«+ [Anna Karenina]

sares e At [The national bird of India is]

A. FE=H [swan] B. =37 [peacock]

C. %= [eagle] D. 5% [garudal]

T strerRg B 9 (¢ieet? [In which country was
Che Guevara born?]

A. Fe1<a [Colombia]
C. witeAoat [Argentina]

B. 3f&fsai [Bolivia]
D. 3ife@ [Brazil]

08.

09.

10.

11.

12.

13.

14.

15.

16.

7 7193ze T &B? [Which is the biggest lake

on earth?]
A. fetgifamizn [Lake Victoria]

B. =if=mi« stsiq [Caspian Sea]

C. s gn [Lake Zambezi]

D. fafsimzw [Lake Michigan]

O A &= fooe R @ @ qHEeia?
[Which religious group uses the Tower of Silence
for exposure of the dead?]

A. Az [Bahais]

B. TEIE@PSW [Zoroastrians]

C. t& [Jains]

D. 61 [Shintoes]

i aet et 78w wtew siEi? [In which country

Bangladesh is the second national language?]
A. a5l [Rwanda]

B. 7w [Sudan]

C. fr@ @ [Guyanal]

D. i@t 167 [Sierra Leone]

=W et A SAfA e @@? [Which country

never colonized?]

A. 3rf [Burma] B. @167 [Laos]

C. 4i2=1% [Thailand] D. 2wt [Indonesia]

GIS-93 =g F? [What is GIS]

A. fesaifes e Wf®H [Geographic Information
Service]

B. fasafes Fwwaeem F059 [Geographic Information
System]

C. tiRmE g=wer= Wf$H [Global Information Service]

D. wiE 29w 59 [Global Information System]

2038 et fRrgsites stdi® cotemtst (7 [Who was the
top scorer of 2014 FIFA World Cup?]
A. T efdare [James Rodriguez]

B. 53 ¥@1@ [Thomas Muller]

C. ferst@ ™ [Lionel Messi]

D. Witee 9734 [Arjen Robben]

World Wide Web 93 aif$siet Fits 9=t Ta? [Who was
the founder of the World Wide Web?]

A. &= =157 [Bill Gates]

B. W& ga@aist [Mark Zuckerberg]

C. Fo® &< [Steve Jobs]

D. 59 F+-#1 [Tim Berners-Lee]
303 AMET OIST AAFEHAA WATAT @I (701 TGOS
Z? [Which country will host the XXXI Summer

Olympics in 20167]
A. =33 [USA] B. 5= [China]
C. s« [Germany] D. gife™ [Brazil]

= ot @ #relm weee 78?7 [Which country is
not included in the BRICS group?]
A. 19767 [Britain] B. i@ [Russia]

C.%ws [India] D. w4 wiffFst [South Africa] 24



17.

18.

19.

20.

21.

22

23

24

25.
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strens grwerts elfsaren @foe wiemst awemtsis i
FgS A z0&A- [The Muslim origin woman who
resigned from the British cabinet in protest against

the attack in Gaza is]
A. s==ai 9iel [Rushnara Ali]

B. Fizfawi et [Sayeeda Warsi]
C. =t erizene [Asma Jehangir]
D. S2f& 4 [Ireene Khan]

'‘Man is born free and everywhere he is in
chains'- ®f&® ==®? ['Man is born free and
everywhere he is in chains'-who said it?]

A. 3 995 [Carl Marx] B. ©=rie [Hegel]

C. &ui-w1 @it [Jean Jack Rousseau]

D. &+ T35+ [John Milton]

w1g i3 Tt=- [Abu Ghraib is]

A. @S0 &R [A Jail]

B. @z fa4ire @< [A famous philosopher]

C. @3 &q9d [A museum]

D. «&= [ [A scientist]

FEE SIRAT @ Y TAOE Fhedw (A (FEiG?
[Which 1s the country most severely affected by
the outbreak of Ebola virus?]

A. i [Guinea]

B. =nigaf«wt [Liberia]

C. =i 716+ [Sierra Leone]

D. wige[ @96 [Ivory coast]

‘8o EIeT T@ ¥F R -7 wWiRwEe Twrd- [The
discoverer of '40 types of fruit in a single tree' is]
A. SIS T o= St [Professor Sam Von Aken]

B. st 728 [Sams Hiew]

C. faes wid@ 5231 [Scientist Arthur Luis]

D. @& ¢« s34 [L N Narayana]

WA 7 9w weeeE (Fee fAfRE $@? [Which
country first banned smoking in public?]

A. ==t [Sri Lanka] B. 6« [Bhutan]
C. J3te [Sweden] D. S=ret [Canaka]
viiema«<1 17 [What is 'Guernica'?]

A. %4 [a sculpture] B. 32 [a book]

C. fo@=e [a painting] D. A [a place]
TiEE Zeae (7=t 2ee2- [The land of thousand lakes

is]
A. 778 [Norway] B. =@ [Finland]
C. &% [Denmark] D. w17 [Japan]

'l have a dream'- &% <@? [I have a dream' -
who said this?

A. WgiEs 7= [Abraham Lincoln]

B. wif6a 2K 2 [Martin Luther King]

C. ==+ Witz [Nelson Mandela]

D. wrmifkE Gz [Mahathir Mohammad]

Answer Keys: 1.B 2C3A4C5B 6B 7.C 8B 9B
10D 11.C12B 13 A 14D 15D 16.A 17B 18.C 19.A

) H A 92 B J4 B H

Advanced English

Read the following passage carefully and answer Question
(1-7):

In a forthcoming book Thomas Pickety, an economist at the
Paris School of Economics, argues that there is massive
inequality created by a combination of capitalism and
technological innovation where 1% of capital-owners and
"supermanagers” grab a growing share of national income
and accumulate an increasing concentration of national
wealth. This, he implies, will not only have a detrimental
effect on the middle-class but will also impact disastrously
on the poor. The net result may be the creation of a world
where classes are pitted against each other, resentment 18
widespread, and instability the norm.

01. The best title of this passage would be:
A. The Unstable World Ahead
B. Class Wars of the Future
C. Inequality and Capitalism-Led Innovation
D. Supermanagers and National Wealth
02. The best synonym for ''forthcoming'’ would be:

A. imminent B. prospective

C. obtainable D. expansive
03. The opposite of ""grab" is to:

A. seize B. abolish

C. eliminate D. release

of recent

04. The passage suggests that Pickety is
trends in capitalism:
A. enthusiastic B. guarded
C. wary D. excited
05. According to Pickety national wealth will now be
A. distributed evenly
B. distributed widely
C. distributed creatively
D. distributed disproportionately
06. Pickety implies a vision of the would that is:
A. utopian B. amazing
C. dystopian D. incredible
07. Pickety suggests that growing resentment in the
world is the result of
A. excessive use of technology
B. the creation of a society of technocrats
C. massive income inequalities
D. the decline of the middle-class
Choose the word or phrase that will be the best substitute
for the underlined word or phrase (8-12):
08. It is time to review the protocol on testing nuclear

weapons.
A. record of rules B. summary of rules
C. procedures D. contract
09. Let's begin by looking at the minutes of the last
meeting.

A. memorandum of understanding
B. time frame
C. wrtten record
D. official account
10. The noise level in Dhaka has increased exponentially.
A. alarmingly B. shockingly
C. steadily D. rapidly
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The leaders of the party held a post mortem into

the election disaster.
A. hearing

B. assessment

C. survey D. investigation
Societies living at the periphery are always
overlooked in budgetary allocations.

A. backward regions B. marginal areas
C. offshore areas D. remote places
Choose the Correct Article (13-14):

Many men and women aspire to — presidency.

A.a B. an C. the D. no article
It was —— honor for me when I was made the
secretary of our association.

A a B. an C. the D. no article

Choose the Correct Preposition (15-16):

We will have to adapt any situation that may
arise.

A. for B. from C. with D.to

I disagree many people who say the
environment should not be our main concern.

A with B. from C. about D. to
Choose the Correct Pronoun (17-18):

Rahim is the only one of us passed the
examination.

A. who B. which C. whom D. whose

She was one of

worried about money.

A_these B. this C. those

Choose the Incorrectly spelled word (19-20):

A. accommodate B. admittence.

C. belligerent D. assimilation

A. embellishment B. profesional

C. entrepreneur D. especially

What do these idioms mean? (21-22):

In handling the population problem we must take

the bull by the horns.

A. In handling the population problems we must take
care of the male population.

B. In handling the population problem we must take
defensive measures.

C. In handling the population problem we must attack
the dangerous situations boldly.

D. In handling the problem we must take care of our
animal instincts.

Our policy will be to kill two birds with one stone.

A. Our policy will be doubly aggressive.

B. Our policy will be to achieve both goals in one attempt.

C. Our policy will be to strike out in two directions.

D. Our policy will be to hit all targets at once.

Choose the pair that does not fit (23-25):

A. monotony/variety B. incessant/regular

C. prudent/careful D. dreary/cheerful

A. curtail/amplify B. discord/quarrel

C. vindictive/revengeful D. apposite/appropriate

A. affirmative/positive B. summit/bottom

C. harmony/discord D. pertinent/irrelevant

Answer Keys: 1.D2A3.C4C5D6C7.C8A9C

10D 11.D 12B 13.A 14B 15.D 16.A 17.A 18C 19.B

20B21.C22B 23.D24 A25.A

people who are forever

D. that

il R _RwET R0d9-2058

10.

11.

12.

13.

14.

15.

16.

17.

FAA: Y TO1 (CB-3) U GEICE
Lkl

A. FTE @A B. FM%a" (AT

C. 0@F (A3 D. ‘o (AT

T T I T T -

A. S B. w@sfai

C. Sf=dp-ra D. sw i

‘HIT T G IO SMMGE (&G (AT T |1 -IF0

(I FoAET TE(S?

A. TSy 4= B. SEaw A%Wid

C. 30 oo oiftzd FfEal D, 9T g

I *FHTS WALt 9orR?

A. 93T B. oS

C. w43 D. g et

1t wfe=pfen Taigad 797

A. 9 > Higs B. 5@ > ve1e

C. SiEl > 95 D. =01 > 2

HFIE SHIHIET TS FIFRATES FiH-

A. 3 712 B. Sl

C. =&reH D. 2re?ig

5 1A *=rgetar =

A. (FINE-30w B. T&u-347

C. gvq-faud D. AH-71A

&=t JRg=AS [rEa?

A. & 539 B. 75 <lif%

C. o= mid D. Aus I

A. 399 O B. 981 ©eowy

C. P R D. =3 o=z

i *wan At Teef?

A. B, S B. w4, &

C. gfs, &% D. @& #A

T IR (FI6?

A. VRIZPHI, TE<, “ige B, qoEE, ReifE, afene
C. foge, gmad, fd  D. fizgdt, wewe, wgha

‘Bf" =5 Jere—

. T B. %y
C. TR D. eIl
IfETeH TS S Fm F?
A. HIgA B. sifs] @ <&
C. Io9+a D. IS
‘F IR I FHSAE! ' —II0F LT
A. @At B. s9gid
C. &= D. EANeqT =
A SR e faar cm?
A. 53 B. @
C. ghmm D.®%
A &7 3?2
A T B.%®
C. ¥ D. ¥
‘Frafie’ I oW?
A. FEA" B &4
C. far=raet D. fe
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19.

20.

21.

22

23.

24

25.
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(I A o TG-FYTTT Twiga?

A. fqrerset B. Ao

C. o3 D. =2

T *F0 (FI A &Sl Cofa?

A. FEMA B. 5

C. @& D. F=ifA
concoct-5%

A. T9 OIS B. <ifeta <=1
C. Py D. 3= e
*TECS FRITA—

A. TERES B. sttt

C. 9ys D. 51 wi= S=
‘a%F’ “Itwn e = g

A. REd B. fqam

C. taqie D. “afas
e it F<ige oF I<:

A. I9F TS Feitll 9F & 022
B. 7 MRIAZEE G FAE AT
C. o fFarsr 718 |

D. S1°1% 7Ty J12CA A9 |

Sfo® zrR?

A SR B. A&

C. S D. fsfeErs
TEI'TS T T SIS TR IS T AR
A. IIE I B. izt

C. 993 41> D. 9=

Answer Keys: 1.C 2.C 3.C 4B 5.A 6B 7B 8D 9.A
10B11.B12C 13.C 14B 15.C 16.A 17.B 18.D 19.C
20B21.C22D 23.A24B 25.C

English

Read the following passage carefully and answer
Questions 1 - 5:

Researches suggest that there are creatures that do
not know what light means at the bottom of the sea.
They don't have either eyes or ears; they can, only
feel. There 1s no day or night for them. There are no
winters, no summers, no sun, no moon, and no stars.
It 1s as 1f a child spent its life 1n darkness in bed,
with nothing to see or hear. How different our own
life 1s! Sight shows us the ground beneath our feet
and the heavens above us - the sun, moon and stars,
shooting stars, lightning and the sunset. It shows us
day and night. We are able to hear voices, the sound
of the sea, and music. We feel, we taste, we smell.
How fortunate we are!

Judging from the passage, we can say that this

passage is mainly about
A. life of sea creatures at the bottom of the sea.

B. how changes in the seasons are perceived by the
deep-sea creatures

C. how wonderful our lives were and will be

D. the superiority of human beings over some
creatures in terms of senses

We discover that the sea creatures in the story——.

A. have the same sense that we do

B. have no sense of hearing as well as sight

C. live in darkness because they do not like light

D. do not hear the sound of sea as they are
accustomed to it

10.

11.

13.

14.

15.

In the passage a child in darkness is likened to——
A. someone who lives where there are no seasons

B. an animal without the sense of touch

C. a sea creature with no seeing or hearing ability

D. a deaf child unaffected by the environment
Which statement is true in the context of the
passage?

A.We are unfortunate because
experience winter and summer.

B. We can feel, smell and taste unlike the deep sea
creatures.

C. We can spend our lives in darkness 1n bed.

D. We can see the ground beneath our feet and the
depth of the ocean.

'Researches’ in line I suggest

A. stories one hears about the deep sea creatures
from sailors

B. scientific discoveries about the deep sea

C. laboratory tests conducted by marine biologists
D. Detailed studies about the deep sea creatures to
discover new information about them

Which of the following sentences is correct?
(6-9):

A. I have looked for a good doctor before I met you.
B. I had looked for a good doctor before I met you.
C. I looked for a good doctor before 1 meet you.

D. I am looking for a good doctor before meeting you.
A. He chose well and prospered.

B. He choose well and prospered.

C. He choiced well and prospered.

D. He chosen well and prospered.

A. Silver as well as cotton have fallen 1s (in Z@@) price.
B. Bangla as well as English are taught here.

C. The mayor, with his councilors, 1s to be present.
D. The king, with his mnisters, are going on a trip.

A. I 1insist that she come along.

B. I insist that she comes along.

C. I insist that she came along.

D. I insist that she may come along.

He stood before me. The underlined word is

A. Noun B. Adverb

C. Verb D. Preposition

When you think someone is "'introspective’’, you
think s\he is -.

A. selfish B. thoughtful

C. rude D. reserved

The synonym for "Nepotism' is

A. Terrorism B. Desposition

C. Neatness D. Favouritism

"To lose heart' is

A. to have a heart attack B. to lose courage

C. to fall in love D. to be without passion
Choose the pair which is out of place

A. ambiguity/clarity B. humane/kind

C. colossal/tiny D. worsen/improve

we cannot

Fill in the blanks (15—17)

We better the schedule of the examination.
A. to cheek B. checked

C. checking D. check
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17.
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19.

20.

21.

22,

23.

24.

25.
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Please leave your key the reception
A.in B. on C. at D. with
I'll call you

A. when I'll get home B. when I go home

C. while I get home D. as I go home.

Choose the word that is closest in meaning to the
kevword in italics. (18-19)

The bank charges an exorbitant rate of interest.
A. moderate B. excessive

C. fair D. increasing
It was an indiscreet action on their part.
A. unfair B. secret

C. imprudent D. hasty

Answer the guestions according to the instructions
provided. (20—-23)

Select the correct spelling
A. reminiscience

C. reminiscence

'Dog days' means

A. a period of being carefree

B. a period of misfortune

C. days when dogs breed

D. hot weather

Which of the following is a positive attribute?

A. haughty B. conceited

C. irritable D. unassuming

A cobbler is a person who-

A. sells shoes B. mends cobblestones
C. mends shoes D. exports cobblestones
09 (M 41 AR |

A. It 1s easy to find fault of others.

B. It 1s easy to find out fault of others.

C. It 1s easy to find fault with others.

D. It is easy to find out faults of others.

fRotw w8 a3t =T A

A. Mistortunes comes never alone.

B. Misfortunes never come alone.

C. Misfortunes never alone comes.

D. Mistortunes comes alone ever.

Answer Keys: 1.D 2B 3.C 4B 5D 6B 7.A 8.C
9A10D11.B12.D 13 B 14B 15.D 16.C 17.B 18.B
19.C 20.C 21.D 22.D 23.C 24.C 25.B

et REai=t

AR TR (Fod wagF? (Which of the following is
situated to the north of Bangladesh?)

A. e [Mijoram] B. &9=¥ ([Meghalaya]
C. f@*at (Tripura) D. sir@=aia [Myanmar]
ATEIEEDTS’ (@ Tid o Jm? [Of which place's
former name is 'Gondoanaland'?]

A. m=ter@ (Dinajpur) B 3itsie=i5 [Bagerhat]

C. F3RrEd [Cox's Bazar] D. GEE (Noakhali]
ICAANIER G Siwst IS 5?7 [What is the average
depth of the 'Bay of Bengal' in feet?]

A. 3,%o0 [2,600] B. ,¢oo [8,500]

C. 9,v90 [3,670] D. ¢,2%0 [5,530]
it steivifeam ga =it Ikeice e =@ v &
wifvcaE=? [Who placed the demand that Bengli be

recognized as a state language along with Urdu in the
general assembly of Pakistan?]

A SfESw 9 [Tamijuddin Khan]

B. 7w Sierwe 4 [Syed Azmat Khan]

C. 4itg%=1d w8 [Dhirendranath Dutta]

D. 9%+ €9 [Monoranjan Dhar]

B. reminiscense
D. reminsence

10.

11.

12.

13.

¥oqy-9 Ifegran i Refr IR AT & o=@
¥ta9? [Who projected Bangladesh to the world in
1971 during the liberation war?]

A. % ife99 [George Harrison]

B. #25+ f§2 [Simon Dring]

C. #if®® 9) *t3K [Pandit Ravi Shankar]

D. «twa 7412 [All of them]

T IRACTRE e wAsA T8m ot &FIan?
[Which is the second country that recognized

independent Banladesh?]

A. ¥ [India] B. &i==t [Sri Lanka]

C. ©619 [Bhutan] D. et [Malaysia]

A GFCACS ©fF HTHAAT HeMrd et [wre
SR Ay f&? [What is the name of the sculpture in

Bangla Academy which has been built in memory
of the martyrs of the language movement?]

A. == ¥ [Bhasar Kotha (History of Language)]

B. ©ER ¥Eiwe! [Bhasar Swadhinata (Liberty of Language)]

C. ctag <t (Moder Asha (Our hope)]

D. (twe 9199 [Moder Gorob (Our Pride)]

@ Jiegarerss s samea? [Which one of the

following is a documentary film based on the
liberation war?]

A. &3 35 &« [Ora 11 jon]

B. gl [Hulia]

C. If&< oM [Muktir Gaan]

D. (=16 (7ata < @20 [Let there be light]

SRR (7 SFF0 T TENAER FEGFER wH?
[Which ministry supervises the Submarine Cable
project?]

A. <9 [Finance]

B. &< 8 GEEETEN [Post & Telecommunication]

C. <@ 8 &% [Science & ICT]

D. #9141 [Foreign]

I TFEe  (FRENI ANEIFE NF  SEAe?
[Which agency coordinates the Development
Forum of Bangladesh?]

A. i3s3t [JICA] B. 3T u= % 3 [UNDP]

C. &4 2 [World Bank] D. =12 €% @& [IMF]
FIEMT FIGT IS 4 T 8 ARG SewEw w2

[Which one is the biggest religious and social
festival of the Garos?]

A. /3 [Bijhul] B. su=i= [Wangala]

C. 7ty [Sandrey] D. A1@12 [Sangrai]

Y598 A (FI AT BIF [ RwEw (dF ‘©8d =1
o’ ol vt z@? [Who was awarded the

degree of 'Doctor of Literature' from the University
of Dhaka in 19747]

A. 7119 T4 H9FE [Sir Jadunath Sarkar]

B. *[?<6% b8~i<i¥ [Sharatchandra Chattapadhaya]

C. o1 =&l 7ewee 27=W [Poet Kazi Nazrul Islam]

D. &raw (s &7 [Syed Moazzem Hossain]
‘S’ (NIPORT) o9 fRacw s wf%®? [With
which subject is NIPORT related?]

A. 3R 999 |Sea port]

B. #9914 <&@« [Nuclear science]

C. §=312411 [Population]

D. (@62 79 [None of these]
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15.

16.
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18.
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20.
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TRIRTS! - (FRE[Where is ‘Muraichhora' Eco-park?] 23. =2 IR FCAF0 WHLA (S (9 51 AR | (5F

A. 4151z [Khagrachhori]
B. ifere=1fS [Nolitabari]

C. 99741 |Borolekha]
D. ifFra [Kalia]
FFWE wOE ST I F@? [Which is the

National Flag day of Bangladesh?]

A. 38 ¢fei= [April 24]

B. 2 96 [March 2]

C. 3% b [March 26]

D. % fem®a [December 16]

IRATT (FIH A (T wifeey =gzt firiea e 3w
wiee? [Since when has Bangladesh been working

in the United Nations Peace Keeping Missions?]
A. 3549 [1977] B. Y554 [1996]

C. 35 [1981] D. 5bb [1988]

[Which of the following has been discovered by the
scientist Dr. Magsudul Alam?]

A. (&3 9if& [Radioactive sands]

B. Silar] ¥%=t [Fossil coal]

C. #Iltb4 &9 7270 [Genome sequence of Jute]

D. 5% [Pesticide]

TeSiF’ (AT gFeN WAl Yewmm TEE- [A
woman freedom fighter who received the title
'‘Birpratik’ is-]

A. EEFE 291 [Jahanara Imam]

B. %19+ {4 [Kankon Bibi]

C. cwawail fewsi™ar [Firdausi Priovashini]

D. ©@+ [T [Taramon Bibi]

FAEPRIE Witw =% F f2=? [What was the old name of
Rajshahi?]

A. FWeb [Samatat]

B. s+ @mifersl [Rampur Boalia]

C. =< [Horikel]

D. I=1F=% [Mahasthangahr]

AT JROW WS wRehd AW F? [Which is the
largest mangrove forest in the world?]

A. FireaRe! [Lauwachara]

B. 74999 [The Sundarbans]

C. Sieq= sreiy &wii« [Bhawal National Park]

D. 3474 [Madhupur]

7422w IEt Search Engine-93 7% f&? [What is the
name of the first Bangla Search Engine?]

A. @79 91 [Google Bangla]

B. 919 %% [Ghas Foring]

C. f=ififer=st [Pipilika]

D. (352 7% [None]

_ Bt fFrfRvtern =t (1= wifacy #hifers z3? [When is the

Dhaka University Day observed?]
A. 9o g9 [30 June]

B. > @12 [1 July]
C. >a (6%« [17 September]
D. 33 f&3a [11 December]

24

25.

=7 WY 5?7 [Recently in a few routes, Bangladesh
Railways has introduced DEMU raif service. What

does DEMU mean?]

A. Torem 3FETGe 9% GIl=aE 2906 [Diesel Electric
and Mechanical Unit]

B. forem 3reells wWifes 286 [Diesel Electric
Multiple Unit]

C. fefanm 2gtmfRe «v o=@ 286 [Digital

Engineering and Mechanical Unit]

D. forem gfgafte a3 c@ifmm 280 [Diesel
Engineering and Mechanical Unit]

Spitet 8o’ foweei@ PET &? [The artist who
painted 'Madona 43' is]

A. 919 T [Qamrul Hasan]

B. cargrm feaf@ [Mohammad Kibria]

C. 97 @3 F#rei« [S M Sultan]

D. E3«F ¥ [Zainul Abedin]

& Wi s=emEt SreeifEzs? [Which of the
indigenous commnities is matriarchal?]

A. 51%91 [Chakmal] B. 914l [Garo]

C. =rer [Hajong] D. 999t [Marmal]

Answer Keys: 1.B2A3B4C5D6.C 7D 8.C 9B

10.C 11.B 12.C 13.C 14.C 15.B 16.D 17.C 18.D 19.B
200B21.C22B23.B24D 25B

TAOET 3y R ofefae RHW & I Fww? [Who lives in

11 Downing Street, London?]

A. 9fo= d¢i=wrst [The British Prime Minister]

B. §®* faw@fdl W& st [The British leader of the
opposition]

C. &n* witse™ =< ¥ @®/s<eE [The British Chancellor
of the Exchequer]

D. 5f6= “i=ai8%&! [The British Foreign Minister]

wIfe e Ao (W q26 R wWie? [What two

colors appear on the United Nations flag?]

A. i 8 =¥ [Blue and red]

B. «ire1 @ 3imi  [Blue and white]

C. =11 9@ AWl [Red and wite]

D. g% '8 AWl [Green and white]

AR s: [The capital city of

Madagascar is]

A. SFTeFFIFCSt [Antananarivo]

B. ARt [Paramaribo]

C. WItA< [Maseru]

D. =T [Astana]

Yoo FA (FIF (ot FEALT e qLet AqiTE FHive

Fta2? [Which country first elected a woman Prime

Minister in 19607?]
A. S%% [India] B. 2530 [Israel]
C. SRS [Ireland] D. &=1e= [Sri Lanka]

WFH 930 & e*i? [In which country is Angkor

Wat situated?]
A. 3fEtea [Bolivia] B. itifen [Cambodia]
D. =11s7 [Laos]

C. 4i2=1% [Thailand]

& IfF @t Wt J&gF o 7w 4 =
7 oSty oEes Wiwt IW? [Which US President
was shot five days after the end of the American
Civil War?]

A. T1eteR F¥Eres [Theodore Roosevelt]

B. S{E™ 23 [Abraham Lincoln]

C. Freea 6. e [Franklin D. Roosevelt]

D. Sutal 83759 [Woodrow Wilson]
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oA et N Aty wigs  AfRoe? [How is

Tensin Gyatso bettter Known?]
A. ¢*faeil cowfer [Sherpa Tanzing]

B. =t*l1 [Osho]

C. #it33= A1 [Panchen Lama]

D. wien @ [Dalai Lama]

(FI7 (FeEi=e 9L Y2317 (AiEa 47%F Aw? [Which
scientist was the first to receive the Nobel Prize
twice?]

A. 7019 wi2ers 86+ [Sir Isaac Newton]

B. 9ie=is w2512 [Albert Einstein]

C. werasa A= (@41 [Alexander Graham Bell]

D. @4 §f4 [Marie Curie]

©o1a G ¥4 F? [The national flower of Bhutan
is-.]

A. =1 #f% [blue poppy] B. ¥ il [red rose]

C. 2% [lotus] D. fafer [lily]

& B Teeive® i T9wWE? [Which British war
medal is the highest military decoration?]

A. S8R <% i1 {6 «iwR [The Order of the British Empire]
B. feoifsa @ [The Victoria Cross]

C. fuf=51€l @+ [The Military Cross]

D. =G4l (e [The Military Medal]

TREE wolH (& (d=FR Jd TF? [With which sport
is Michael Jordan associated?]

A. (@939 [Baseball] B. qt%099 [Basketball]

C. T4 [Football] D. =isifa [Rugby]

TR FHew A6 AR Bfe @ @, “9? @i Tl
wiEt Fe T30S #if@?”[Who did Margaret Thatcher
describe as '"a man we can do business with?"']

A. =4l fafgm [Henry Kissinger]

B. (61 @¥ =12 [Chou En Lai]

C. fserg=ss [Nikita Krushchev]

D. fi2= =idi6® [Mikhaial]

¢ehEces 3919 <198 [The currency of Poland is]

A. (it [peso] B. &G [zloty]

C. ¥ [koruna] D. 21 [euro]

&I AT I CIRIE @8 20 53 qHo6ER Ppred 9o%
weie« 24?7 [In what year was the Black Monday when

the New York Stock Exchange index fell by 33%7]
A. 35v9q [1987] B. 355> [1999]

C. s»0 [1930] D. 3004 [2007]
F= o H-97 v e ne TR-Afeere ¢ faEa?

[Who co-founded Microsoft alongside Bill Gates?]
A. =19 @t= [Paul Allen]

B. 75® &5 [Steve Jobs]

C. ¥ @ 1% [Paul Brainard]

D. & < [John Backus]

F%t =it 57 WitgF =119- [The British Parliament is

also known as]
A sTEEBE#61@ [The Westminster]

B. =roe 919 @195 [House of Lords]
C. =% =@ $97 [House of Commons]
D. 2% o) faeateto® [House of Representatives]

17.

18.

19.

20.

21.

23.

24

25

e T08q 9o+t &¥- [The beginning of the Arab
Spring was in]

A. T507%3 2050 fSEFRFRR [December 2010, Tunisia]

B. Wb 053, ¥C&@™ [March 2011, Morocco]

C. wiaifa 203, fi@ [January 2012, Egypt]

D. 9 203, =26 [June 2012, Bahrain]

e Freida Qs Oreme FteR N TRRE
GRTFE 8 SHREE WSS @ s FHHE U F1F
F@ @9- [Former CIA agent Edward Snowden
leaked the secret US program called]

A. ferem [PRISM] B. @2al [Rainbow]

C. &3 [Facebook] D.%2f¢fs [Wikileaks]

iR Rl = it adas «& i ARy A9
oM FER? [In which Arab state a religious
minority government is still in power?]

A. 391 [Iraq] B. 7RAF¥ [Lebanon]

C. fifa@l [Syria] D. 341 [Iran]

TERcE &9 ©f9l- [The main Language spoken in
the Maldeves is]

A. =91 [Hindi] B. =% [Malay]

C. 94 [Arabic] D. 9it®2] [Dhivehi]
Jode¢ FAIE SrmEE 8 fFeftrnite wawn it faws
TA3- [The 2015 ICC World Cup Cricket (WCC) to be

held in Australia and New Zealand would be the?]
A. 7% siafHE fegere i@t 9™ 1ICC WCC]

B. v wizfAH sl fatst [10™ 1CC WCC)

C. v w13fif st faes (11" ICC WCC]

D. wiv sz st fas [12™ ICC WCC)
SRS O ACT (SETHI TS (I 20507 =S f2=1- [The

new Indian state of Telangana was previously part of]
A. 718 Tn* [Madhya Pradesh]

B. ==2t7* [Andhra Pradesh]
C. wfe*I5I% [Chhattisgarh]

D. 6% [Karnataka]

e @A (@At A@W WGl T39-[Which of the

following is not a news agency?]
A. Yonhap B. Xinhua

C. Smithsonian D.ITAR-TASS
=sAfofe qoio@e M w’fgs- [Spartly Islands are

situated in the]
A. g*¥ =159 [Pacific Ocean]

B. S9471919 [ Mediterranean Seal

C. w19 A1%1@ [South China Sea]

D. ©ige =HAEE [Indian Ocean]

Great Leap Forward 23 ¥ wf® AFit=its T3
o7 &3&! g&=-[The much criticized reform called
the "Great Leap Forward' was initiated by]

A. tae e 42 [Deng Xiao Ping]

B. ¥Wl€ (A1'g¢ [Mao Tse Tung]

C.g &=eie [Hu Jintao]

D. 1 g= =13 [Chou en Lai]

Answer Keys: 1.C2B 3A 4D 5B 6B 7D 8D 9.A
10B11.B 12D 13B 14.A 15 A 16. A 17.A 18.A 19.C
20D21.C22B23.C24.C25.B
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HAL: 3 IB1 FIE-9) I : 320
WW

Se50 A ‘(TECS0 TGS -9F T (N 710 (3 o1 2?

A. [ ¢ wiem B. (5% geiey 8 (Creifew
C. =it @ HAifqw D. TSis e
Www@amﬂn-

A. s B. %1 C. 219 D. s
meﬁmmmmﬁﬁ?
A.FH e @@ B. [Feenis @ a9er@

C. g=arey € wE@=m D, v wiipst @ et

S HE (F TAE AN AT® FI Aot Baprt I
T FACR !

A 4@ B. @9Em  C. 9oiF D. =iex
2032-d0 FAEE AfNE dfermifrers e IEmemE

wIFI-

A. 9o B. 3w C. 588 D. ce
wiceCst @ (@R SIES?

Afrm  B.gmwm  C. &= D. 3@E

@A SRR i AfSHIaT AL e SFei?
A. Fret e [iwsiey B.acacen e
C. seers feyfawmem D. syufger fagfawserg

1= vt Gross National Product (GNP)-93 #if3Res

Gross National Happiness (GNH) 353%@ 3t 237
A feEst B, 9o C. sm@ifem  D. femrem
i FaetiE we P RS & At Afsoe za?

A. S»3¢ B. 5% C.539 D. s
s arEyae J-
A. @ B. g3 C. w=era D, qst=

IR TRIFSE RE g 9 g3?
A. crEe B, @&t C. st
B 8 wefies o Reatye] o weeter 7 17
A. G B. (=2 &7

C. A= @97m  D. &5 &9
weoaNTSt YT e Ryl wastes am Hi

A wom  B. 2wl C.zams D, ARk
FCHIGTR IGTT AH-

A . ffmm  B.ss C.2s3w D. 3@+
SIS FNER I WLt tEEa AesifES?

A. @M B.eg C.q#m D. sz o

D. sitet

3 AR FIF 7 Fiots 4T FR?

A. (FIT @ A3 B. ©&a @ ufEd caifam
C. & ¢ vg% D. =it @ Frens
(FIF T 05t FiE Fw i s F93?
A 7@  B.gifE= C. grom™ D. &=
HIFT-TF FI AGTLRR T LGS ZLA(RHA?

A. B9 @ I==Ey B. o9 ¢ oA

C. 59 8 [ D. b9 8 F™

SST IIFE MY (3T (I (AT T DS ZFA?

A.smes B .@Em C. @™ D. i
AT (TR A WA EE i Weg AN Witg?

A. 8 B.e¢ C. 1 D. b

&aig f4at 3terer (Electoral College) CSIB3 ATt F7s?
A. oo B. ¢20 C. ¢bo D. ¢35

&I (ie f&-20 97 Fwoy 977
A. B B. s C. o9% D. 2o
"SI @F0 T SR ISV AW FRREH?
A. &g auif*eGa B. g e
C. o= o=ifa e, g D. &9 9% (@G

24.

25.

Ln

10.

11.

12.

13.

14.

15

16.

& o 03¢ FIE TN A ArNa IS F9637?

A. SIFS B. ceteEEl
C. gifem= D. TEcaf*

& Tt et (Memogate) (SERSEs X 36
A. 3@ B.ere C. w5 wiz  D. Aifeem
Answer Kevs: 1.B 2B 3.C 4.A 5B 6.C 7.C 8B

9D 10A 11.C 12.A13.C 14 A 15A 16A17.A
18.A19.B 20.D21.A22B 23.C24B 25.D

e |{Emi==t
e Ww dfde ¢ whifae wot RieemEmeE
RET7 @ FF AT eEzs F@Ea?
ARgwiEa  B.seiigam C.eweem D, 3ifEeis
s f6'efera ‘ Antiquitiesof Dacca’ it 33 &g?
A. @ ozt B, uffm C. sfqer D. w4difs

sigey Sl SR Rt wal et <iRRET e
A AT F57

A. 3.8 & B.gs8wa C.usww D. @b«
‘F7-f-B3-8 AR FIFE FIZA0T HIGANAE A F7
A. 3 =EE & B. 32 Tw@ f&:f:

C. 20 zrE= f&:f: D. wo TEd -
FieATa fT&eet e (I weee [{2ers 4y (650 T4e?
A. SeGEE B. ©@e

C. #i=i D. cafmt

oo =it et < Fdra?

A. TEErRE B. ‘«retad 4

C. aregaid! D. 'g3rerEs wirmdr

% IR AT TR It FEm @ =n?

A. @4F F4 B. i<l focaet =1

C. 30 =i 3 D. IR SAEH T4

R & e MAM IS GF TMEUd  eoifgle
AEH?

A. ¢o B. vo

C. 9o D. vo
TG SFET T TF?

A. = g B. (GFbIq 3134

C. g%+ D. I$waE

F(F AeEA [Fyat [ig i 23fss za?

A. 776y fmiEeE B. afeT AR 99

C. 94319 3134 D. 23 @ &4

Ao B. 2

C. % D. 3

FieEaee B VA et

A. FE 45 B. e gHA

C. 3949 99149 D. 9. @9, @ AZ]
FREATICNT (T [T AN Srsy FiF JAaE Fatt
2?

A. g B. 4=

C. afa=i=1 D. pag

TR A ToEn AN AT AT CAERIGAIR &
WEETod IeGe T T3 FEA?

A. Y @ @EEo B. & (@9 @i

C. 85 (9 AfeTo D. © [ Wewo
AR T A TS st T {Rew sfien
o eI TR T HR (oTare?

A. 4w @ B. e Ared

C. =t qt D. ¢4 (3T 74

‘Ninety East Ridge’ I&ETR &9 SRTE AL
ToAfFS?

A. TYYR-IET wEEE B. safew e 31



17.

18.

19.

20.

21.

22

23.

24.

25.
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UccC

C. Irz=ia D. fow it SR
HIZNT' I TR BA-Ta1?

A A% B. T

C. 5o D. 3=

T EF AW cfRbe @t IEmeE (I &
HAES?

A s B. a«ae

C. oo D. far=i=sie

NHT (1 SToB TIFTo! 17T TR AT FEe?
A. & G0 B. uf*zifos e
C. it ey D. If&gs 3eq
Sesifegee e 7y 72

A. T B. 7712

C. |S D. ¢ifs

Bt R Q9w s =% As WS 1?

A. 5539 B. 5538

C. s5a¢ D. =62 =
it st o2 8 AfFenm gt & e AfRe?
A. qifree B. fAuzy

Ok ICECTELE) D. I5+agH

205) ANER TFI TFTF ToLP-IRACACH T 57

A. 329 B. 38%

C. s¢o D. a3

FRFAWCR FASET F BT 9T HBIEFF ARg=-
FCA7

A. (SIS B. (. 30fa1 @ @ 99

C. P9 FIH7¢ (F WA D. GTaa 138

AR wAE o e Fem T ThiEe?

A. g B. 3

C. =1 D. ageg

Answer Keys: 1.A 2B 3B 4.C 5B 6.D 7.A 8.B
9A 10A 11.D 12D 13.C 14C 15.A 16.C17.D
18.B 19.C 20.C21.A 22D 23.B24.B 25.C

<
TS *twa we-
A. Iy AREET B =%r[ azdl
C. wfFrr fifenite IDREIEIES T
24T (BT W +ffATive cifirewmR (T tim?
A. FEICED B. worehis
C. =19 TFWIA D. qt=rEEits
‘Forgery’ It Jieat Afastat-
A. cremifa B. wiferzif®
C. ===l D. wi=i
CHITAAGR (FA0?

A. fFeifFst, =idifas, w5, Hifs
B. 9ge, 3g9, WG9S, KIS

C. *diz, 141z, 99azE, wizs

D. ffefors, fdfa, weife, =i

e woT AMGEoE @iHn?

A. 495 =79 B. 99+98d = 9rIEd
C. 9+ 9@ ==e D. (Sl + TS = OIS
TR-FHA (AT B G0 S I, AT S (FI67
A st B. Sfw

C. &% D. g=gf=
‘qFp’ TR B 1?2

A gopy B. sst

C. *mifFe == D. w@5w

A. FETa B. iy 94919 9

C. @=a D. ke T5g

9.

10.

11.

12.

13.

14.

15.

16.

17.

18.

19.

20.

21.

22

23

24

25,

TS WA IAET R AR |- 96 &=
YA AfTSa?

A AT B. ?.EI'FIT"I‘U

C. g D. wfeifgs
‘@-g'{fY WA @i I gl

A. ST B. €@+

C. #qatet D. serd

‘eEifeT g2 orF I L=1-ifS I90o @RI Tte-
A. 9= awifeq sfon B. 990 T A%
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10.

11.

12,

13.
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English
Select the alternative that best replaces the
underlined portion of the sentence (1-3)

Neither Mr.Karim nor his friend are invited to

speak at the seminar.

A. 1s 1invited to speak at the seminar

B. are invited to speak at the seminar

C. 1s to speak at the seminar

D. are speaking at the seminar

When one eats in this restaurant, vou often find

that the prices are high.

A. When one eats 1n this restaurant, you often find

B. When you eat in this restaurant, one often finds

C. When you eat 1n this restaurant, you often find

D. If you eat in this restaurant, you often find

Your courage is as great as any other person in
defending your country.

A. as great as any other person

B. as great as any other persons

C. great like other person

D. as great as that of any other person

Select the correct spelling of the word in capital
letters (4-8)

MILLENIUM

A. milenium

C. millennium
PARSEVERANCE
A. perseverence

C. persivarence
QUESTIONAIRE
A. questionnaire

C. questionnairre
INOCCULATE
A. innoculate

C. inoculate

B. millenium
D. milennium

B. perseverance
D. parseverance

B. questionaire
D. questionnair

B. inocculate
D. innockulate

DESSICATE

A. dessicate B. desiccate

C. desicate D. dessicete

Fill in the blanks (9-13)

If you lose your card, please------ us immediately

by calling our 24 hour Contact Centre.

A.note  B.notify C. notification D. notice
Before you entered the classroom, you---the
teacher’s permission.

A. should seek B. seek
C. would have sought D. should have sought

I’'ll go shopping in the afternoon -------- buy some
new clothes.

A. so that B. in order to

C. so as D. such that

The Bangladesh cricket team --------- with a
victory against England.

A. bounced up B. turned up

C. bounced back D. sprang up

Please ----- pay your monthly dues regularly.

A. remember too B. remember to

C. remember you too D. remind you to

Read the following passage carefully and answer
Questions(14-19):

Various research centres are studying identical twins
in order to discover the “heritability” of behavioural
characteristics- that 1s the degree to which a trait is
due to genes (“mature™) instead of environment.
They have reached some startling conclusions. One
study found, for example, that optimism and
pessimism are both very much influenced by genes,

14.

15.

16.

17.

18.

19.

but only optimism 1s affected by environment as
well. According to another study, genes influence our
coffee consumption, but not consumption of tea.
Anxiety seems to be 40 to 50 percent hentable.
Another study tells us that happiness does not depend
much on money or love or professional success;
instead, it i1s 80 percent heritable! Among the traits
that appear to be largely heritable are shyness,
attraction to danger (thrill seeking),choice of career
and religious belief.

In line 5, anxiety is nearest in meaning to

A. thrll B. enthusiasm

C. foreboding D. Fellow-feeling
Which of the following competes with nature in
influencing humans?

A. behaviour B. environment

C. genes D. characteristics

What is the main topic of the paragraph?

A. Research centres and study of genes

B. Optimism and pessimism as behavioural traits

C. Hereditariness of behavioural characteristics

D. Happiness of human beings and heredity

Which of the following has been found to be free

from the influence of genes?
A. consumption of coffee B. happiness

C. consumption of tea D. choice of career
Which of the following is true?

A. Anxiety is more heritable than happiness

B. Anxiety 1s as heritable as happiness

C. Anxiety 1s less heritable than happiness

D. Happiness 1s less heritable than anxiety

In line 3, startling is nearest in meaning to
A. upsetting B. beginning

C. dampening D. enchanting

Select the one underlined word or phrase that is

20.

21.

23,

25.

incorrect (20-24)

Do you know the student who books were stolen?
A. Do B. know

C. who D. were

Kabita intends to starting her own software
business in a few years.

A. intends B. starting

C. software D. few

When our vacation, we plan to spend three davs
scuba diving.

A.When B.plan C. days D. diving
I had a enjoyable time at the party last night,
A a B.time C.at D. last

The majority to the news is about violence or scandal.
A. The B. to C. news D. violence
The best translation of “<i=e W= ISRT IATWR

qF T IEY” is:

A. Aroj Ali Matubbor is a surprising personality of

Bangladesh

B. Aroj Ali Matubbor 1s an amazing Bangladeshi

personality

C. Aroj Ali Matubbor i1s Bangladesh’s startling

person

D. Aroj Ali Matubbor 1s a wiend Bangladeshi person
Answer Kevs: 1. A 2.C3D 4.C 5B 6.A 7.C 8B

9B 10D11.B12.C 13B14.C15B 16.C 17.C

18.C 19.A 20.C 21.B 22.A 23.A 24B 25B -
3
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Answer Keys: 1.C 2.A 3D 4D 5D 6B 7.D 8C

C.fasgr@am D, sergae ve 9D 10D II.C 12B I3B 14C 15C 16B 17.C

7. WM R SHA R TS SIS ZE, S - 18.C 19.C 20.A 21.C 22.A 23.C24.D 25.C
A. Sfeas B. Sfexpfs )
C. it D. faerwd Compulsory English
8 “wd (UTF T T IR I'— IFIHCS TR T Questions 1 to 3: Which of the following sentences is correct?
A ferma Reimd B R R 1. A.Itis more better to be safe than sorry.
' ' B. It is better to be safer than sorry.
C. fera faretael D. wepree e -

C. It is better to be safe than more sorry.

9. TFIAEE- D. It 1s better to be safe than sorry.
A. <f B. wiife 2. A.Family and friends together stay through thick and thin.
C. g D. wfes™ B. Family and friends stay through thick and thin together
10. ‘=St it ‘o’ ST TS ZLAR- C. Family and friends stay together through thick and thin.
A 5w g B. s e D. Family and friends through thick and thin
C. Sae wrd D. g& witd together stay.
11 =g =<~ 3. A. Fear makes where I stand tremble me.
TS B. Fear makes me tremble where I stand.
2' :EE - g :’:’[‘W C. Fear where I stand makes me tremble.

: . D. Fear makes me stand where I tremble.
12, 99 StiReArTR (8 7'=Hem At @ Bpee '3 T Questions 4 to 5: Which of the following is closest in

w52 meaning to the underlined word?
A, SR oTE B. @femfe wemiq 4. The white blood cell count in one's body may
C. fa=rsit D. @37 g | fluctuate by 50 percent during a day.
13. ‘TpaE FEmM asteEE wd- A.undulate B. multiply C. diminish D. vary
A NS T B wewd 5. Ultrasonic waves are bevond the range of sounds

a human can hear.

C. ¢IRE@E “ga D. [ 38

A. outside B. without C. over D. around
14. fomdF *gere 7 F{o? Questions 6 to 7: Indicate the synonym of the words
A F9F, A B. Sa9l, =i+ given below:
C. ==, 431 D. fafa=t, forst 6. auspicious

15. ‘ceraion Sweed wivss RriRmieem Je=iRias 4R A. supernatural  B. suspicious
- ' C. fortunate D. fearful
9T OiF weam IEFEe et orem @ -

Stfex 7o 7. Shabby
oM A5 RO RA- ot LN A.smart B.fair C.unsmart D. honourable
A: . B. = C.arer D. Questions 8 to 10: The correct translation of
16. Vivid ‘WWE— 8. lﬁwwmwmi 1
A.fafky  B. aliE C.fge  D. e A. Good food is for good health
17. ‘e’ i S o Iy 7 B. Nutritious food 1s good for health
A. faaria foret B. srerifefam C. Nutrients in food is good and healthy
C. Tfx *rotaa e asiara 99y D. Jgisee i<l D. Healthy food 1s good for health
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10.

TR0 FIH ForR'?

A. How does the book cut readers?

B. Does the book cut well?

C. Is the book leaving the market?

D. How is the book selling?

= 3@ T FI0e 7@ o fofw wwitE el is-
A. He shows me to do the sum

B. He showed me to do the sum

C. He showed me how to do the sum

D. He showed me do the sum

Questions 11 to 14: Choose the correct option

11.

12,

13.

14.

15.

16.

17.

18.

19.

20.

The correct antonym for 'superficial’ is-
A. Careless B. Indiferent

C. Sufficient D. Deep

‘At a low ebb'— means
A. Increasing B. Decreasing

C. Still D. Invalid
The correct spelling is

A. exemplery B. exemplary
C. examplary D. eximplary

The best passive form of the sentence "What do
you want'?- 1s

A. what was wanting by you?

B. what 1s wanted by you?

C. what was wanted by you?

D. what 1s wanting by you?

Questions 15 to 20: Fill in the blanks

«eeee parent plays a different but important role
in a child's life.

A.Each B.One C.Anyone D.The

Our teacher told the monitor to hand out scripts
....... the class.

A. between B.into C. through

I remembered ....... the race.

A. the horse's winning to B. the orse to win

C. the horse winning D. the horse's to win

He is my best friend now, and ...... for many years.
A. was B. had been C. has been D. was to be

Jenny .... leave the hospital only six hours after

D. among

the baby was born.
A. was able to B. might
C. can D.1s able to

.......... physicist, Gabriel Fahrenheit, invented the

mercury thermometer in 1714,

A.There1is B.Itis C.The D.Itisthe

Read the following passage carefully and answer
Questions 21 to 25:

I have traveled in many countries and have met with men
of all classes, but never in my travels did I feel the
presence of the human so distinctly as in this land. In
other great countries signs of man's power loomed large,
and I saw vast organizations which showed efficiency in
all their features. There, display and extravagance, in
dress, in furniture, in costly entertainments, are startling.
They seem to push you back into a corner, like a poor
intruder at a feast; they are apt to make you envious, or
take your breath away with amazement. There, you do
not feel man as supreme; you are hurled against

UccC

pendous things that alienate. But 1n Japan it is not the

display of power or wealth that i1s the predominating
element. You see everywhere emblems of love and
admiration, and not mostly of ambition and greed.

21.

22,

23.

24,

25.

10.

11.

13.

14.

The word 'stupendous’ means
A._stupid B.expensive C.ugly
Which statement is not true?

A. The Japanese admire good things
B. They are not an ostentatious people
C. They alienate visitors

D. They shun ambition and greed

The writer praises the Japanese because-

A. they make you cnvious

B. they love entertainment

C. they have vast organizations

D. they are very humane

The writer is describing the following things

about the people of Japan.
A. ambition and greed B. love and admiration

C. display and extravagance D. envy and amazement
'like a poor intruder' is an example of

A. simile B. metaphor

C. metonymy D. hyperbole

Answer Keys: 1.D 2.C 3B 4D 5.A 6.C 7C 8B

9D 10C 11D 12B 13B 14B 15A 16D 17.A
18.C 19.A 20.C 21.D 22.C 23.D24B 25.A
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15.

16.

17.

18.

19.

20.

21.

22

23.

24.

25.

9.

UcCcC

FRACST TSI Afssret 2

A. Ol aY =g A B. ©i. crzm 2gifaw

C. ©l. 741 237y D. . ¢iirEms 75

A TF LA gErReE?

A. 20 A4 dqe9q B. 2¢ g2 ya¢q

C. 3¢ 998 Avebr D. 3¢ S5 Sveb

T 4 (AT IEWeE W Taw BeriE TrEng?
A T B. g C. Farsm D. 5%
=S FIHFAS ANG pred WSS (Fi6 Fofe ILEerh
TRowRE SArsd Fie e T4 J?

A. 85 B.eo® C. &5 D. exfo
FREACT AT AYANE (F TRL=_?

A. SIEEw S B. 51V we@e 299N

C. et e S D. @ 935 g% JrFes=i
FRTS JIAACH TS *NF FITF (T8 ZLAR?

A. CTfE S B. 3f+at sird

C. Tt i D. st FgE!
FREACACTR AT A4 oS & fom?

A. TIqvq 95% B. €. @, @3, AEN

C. « R.ua. ITTa =5 D. atAd (T8 79

AR MTFIIMT WSS QW O IR Wk
‘RN TR (F G0 T WISAT FSIILAT FICE
TEET IR |— TS0 7w /1% 57

A geqqg  B.igue Al C. Fga @l D. ARE= 355
FEert 8 Baawes Ty o g9ifEs o a-

A. 9w B.ww C.zfgal D. g

R e e & ww afs?
A. &% F7e vifere fage

B. g9 «i1 bifere [95e (79
C. fesr 31 vifere Rvpe &g
D. &Sty =71 sifere Ry (@9
ool Ity ffeeg ATt | ies?

A. 5@ B. w0 C. D. Tt
Answer Keys: 1D 2B 3B 4A 5C 6 A 7A 8C

9B 10D 11.A 12B 13B 14C 15B 16.A 17C
18.C 19.A 20B 21.B 22 A 23B24 A 25B

WSt [EmiaEat

& (Tt WrTeaE REeAR Tz IwE?

A. S B. J2Eiwens

C. wfgat D. corarEreien
GREm wifgeiet Fem-aa IRt FoeT W -t
03 HIH 9 T ¢Itr?

A. W of=ars B. W (w3 (iga

C. % f7Ss v v e D. fs sifSw=

SO  ToCwA (T T{go?

A @@ Boeem  C.3@ns D, sl
TEFs =30 T o= [Fns?

A wignze B.32@e C. 934 9dqy D. [ =iy
SRS AIGF Higl ged Fee [REes wiewiEs Fae?
A . Twmes B, A3EM C.y#ire  D. vy
CICE (IR (AT L2

A.ZH B. geEsant C. @@femm D. GWiFensH
‘The Keeling Curve’'-@<ifoa® <3 it I&?

A. 9ddifs B. dfqte  C.wmRii @ D. oRieameia
w12 O GF-9F LT A YT AT fGEoT Aty
(I AR AAifE=e?

AT B.3m  C.998@ D. F2Esens

AT TR, GF(0-
A. Tl GSITER B. simfas «irest
C. = asiredt D. cff« aeer

10. ‘Al coren T e’ -9 (316 7757 T0R-
A. ¢ B. afo C.»*® D. s
11. 0 wiFs A= IEYiar?
A. =@l B. SR C.5fs6 D. s3=ie
12. == 3BT “I3wg w5 [eEy 5 g3 Fw@E?
A.g=2 B.vm C. =@ D. =i
13. /@ (FHE FITF TV W (FIH *RE TGS
A Tfffq  B. *0ifds C. =g D. et
14. Iz Swite o I2x = = =2

A. 8¢ B.xv (. o8 D. 83
15. FiF—97 Q47 TgEe & feeE=?

A. SIgE SEHAE B. &t qis

C. f& 4 t=amE D. 3 «=1 A=

16. =5 = e, givwa feew gvem-
A. TS KSR SiwEEsE B, 4597 33519

C. sims D. feafa
17. wifswg TEPoiEs qgs “wagmi 2
A. SREBE ANE@ES B. 3E¥ AFS
C. (W *v T4l @3 D. (=6g 7w
18. ‘Ciesows o9 ¢ (@re’ -l ¢ Feea?
A. Tt =&t B. a0 9%
C. write= fot=asf D. 79 fqe=
19. 'The Idea of Justice' 253 F61Tst F?
A. ITE] GIF B. SR A6
C. W3 et D. &= fmeE
20. WIFre I wea St fe=?
A Ba  B. g™ C.TF™ D. =iv=

21. I TIEE I SIFS?
A. =@t B, 2w C. ewream D, didens
22. 'IFC’ 97 7=t qr=-
A. TORTIAE TR FA T
B. 30R=E fFAee srfia=iw
C. STTEATE & FCATH
D. (FMo2 71
23. ANifE @EITEITE TG (F g3 -97 Afove! Zoe-
A. fq=1 oo B. ou 91+t 1
C. 9iiis ¢t D. I% gt
. EETeSE *if® W SeTifere z3-
A oga  B.sseeid  C. 3 @weww D. s ferms
25. W AFEH TS FA TSANGS (@O0 (02 I 7?
A. BIEE O AT0EA B. ¢& f3 wqeiy=
C. WEF GH2HA D. A us © 3179
Answer Kevs: 1.C 2.C 3A 4B 5C 6B 7B 8B

9B 10C II.A 12C 13.C 14D 15A 16A 17B
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Advanced English

Read the following paragraphs and answer Questions 1-7

Circling the globe, the boreal forest— its name derives
from Boreas, the Greek god of the north wind-comprises
one-third of Earth’'s wooded lands. Half the boreal forest
1s in Russia, while Canada has one-third, and Alaska and
Scandinavia the rest. The forest begins where the
temperate woods of oak and maple disappear, and
continues north, often past the Arctic Circle, until stunted
larch and birch trees peter out to treeless tundra. With
long, cold winters and short, cool summers, the boreal
woods have far less bio-diversity than tropical forests-
Canada has 3,270 plant species compared with
Indonesia's 29,375-and are defined by a few key tree
species: pine, fir, larch, birch and aspen.

If the tropical forests, which contain half the plants'
woodlands, are one Iung of the Earth, then the borea

B




forests are the other. Both play a vital role in regulating

climate as they-along

with the ocean, Earth's largest

carbon repository- filter out billions of tons of carbon

dioxide

and othe rgreenhouse gases during

photosynthesis, storing the carbon in trees, roots and
soils. Over the past two decades, as the public focused on
the destruction of the tropical forests, few looked north to
the woodlands nearly as vast. That's because tropical
forests have been under a full-scale assault, while the
boreal forests are still relatively intact.

1.

10.

11.

UuccC

Boreal forests help in regulating

A. the bio-diversity of the world

B. earth’s climate

C. migration of birds

D. the growth of the planets' woodlands
Boreal forests, compared to tropical forests, are
subjected to-

A. less human assault

B. more human assaults

C. more planned expansion

D. less planned expansion

'Repository’ is-

A. a place where people and plants repose

B. a place where waste products are deposited

C. a place where innumerable things can be stored

D. a place where workers get

'Stunted’ means-

A. strong and compact

B. having less growth than expected

C. carefully pruned

D. having more growh than expected

The paragraphs show an anxiety about-

A. the disappearance of boreal forests

B. the disappearance of bio-diversity

C. the assault on tropical forests

D. the assault on boreal forests

To 'peter out' means

A. to gradually expand and change into something else

B. to gradually annex what lies ahead

C. to gradually increase in size and grow stronger
and healthier

D. to gradually become smaller, quieter, etc. and
then end

Out of the species of the trees- spruce, pine, fir, larch,

birch and aspen - which ones grow in Canada?

A. none B. only spruce

C. only pine and fir D. all

Question 8 to 19: Choose the correct option

'He was carried off his feet' means he

A. was lifted and carried on someone's shoulders

B. was wild with excitement

C. slipped and fell because of carelessness

D. was pushed and thrown on the ground

Which word is synonymous with 'veracity'?

A.truth  B. weight C. metropolis D. speed
Which word rhymes with 'brow'?
A.crow B. through C. crew D. now

What does the idiom 'run up to' mean in the
sentence? The hospital bill has run up to a large
amount.

A. exceeded B. amounted to

C. fell below D. equaled the amount within a short time

13.

14.

15.

16.

17.

18.

19.

20.

21.

22,

23.

24,

25.

What is the plural of 'Turniture'?

A. furnitures B. a piece of furniture

C. some furnitures D. furniture

'No love is lost between them' means-

A. they love each other very much

B. they suffer no loss in their relationships

C. they hate each other

D. they are very loving in appearance

A pedler is a person who

A. goes for a paddle from time to time

B. 1s a pedestrian out for a walk

C. 1s a travelling salesman trying to sell small things

D. 1s a pedeatrician specializing in treating children's feet
Choose the correct sentence

A. We discussed about the matter yesterday

B. We discussed the matter yesterday

C. We have discussed about the matter yesterday

D. We have been discussing the matter yesterday

Select the correct analogy closest to 'dog: leash'

A. belt: buckle B. cow: tether

C. bird: cage D. bicycle: chain

Which phrase would best describe 'the cuckoo'?

A. 'the scavenger of Nature'

B. 'a bird that does not sleep at night'

C. 'the harbinger of spring’

D. 'the queen of the forest'

Had I got your letter, I .....

A. would have replied B. would reply
C. replied D. had replied
'This is the house that Jack built'.
sentence 'that’ is a

A. relative pronoun B. demonstrative pronoun

C. personal pronoun D. distributive pronoun
Questions 20 to 25: fill in the blanks

...... that life began billions of years ago in the
water.

A. In the belief  B. It is believed

C. The belief D. Believing

An Image on a national flag can symbolize
political ideas that ...... express.

A. take many words otherwise would

B. would take to many otherwise words

C. many words to take otherwise

D. would otherwise take many words to

In this

The doctor provided the antidote........ the poison.
A to B. of C.on D. about
Had I been in your situation, ...... the offer.
A. I would not accept

B. I would accept

C. I had accepted

D. I would have accepted

I'n...... for twenty years next July.

A. have been teaching B. be teaching

C. teach D. have taught
'Servitude' is defined as .....

A. service to the nation

B. service according to one's attitude

C. the condition of being a slave

D. the condition under which service 1s provided
Answer Keys: 1.B 2A 3.C 4B 5C 6D 7.D 8B
9A 10B 11.A 12B 13.A 14.C 15.B 16B 17.C
18.A 19.A 20.B 21.D 22.A 23 D24 A 25.C
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Compulsory English

Read the following passage carefully and answer

Questions 1to 5:

We all know that people living in different parts of the
world live different lives. But do we know why they live
different lives? It 1s because the climate all over the
world 1s not the same. The climate 1s the amount of sun,
rain, heat and wind which the land receives. If it is

always warm and sunny, we call that a hot climate. And
if 1t rains a lot, 1t would be a wet climate. It can also be a
hot, wet climate or a cold, wet climate and so on. Can
you imagine what it would be like if we had the same
climate all over the world? All the flowers and the trees
would be the same. Then the animals might be the same,
and the same crops would be grown in the ground. This
would mean that people would be all alike. They would
look alike and they would all eat the same food.

1. The most suitable title for the passage would be :
A. Climate and differences in people
B. Different lives in different parts of the world
C. Climate and different parts of the world
D. Climatic differences the world over
2. 'People living in different parts of the world live
different lives' because—
A. different types of crops grow in different parts of
the world.
B. they are habituated to different kinds of food.
C. the standard of living differs in different parts of
the world
D. the climatic influences are different
3. It is because the climate all over the world is not
the same that
A. different people belong to different groups
B. different people have different religions
C. different people have different doctrines
D. different people live different lives

4. The word 'live' in line 2 is a—
A.Noun B.Verb C. Adjective D. Adverb

5. The adjective of 'climate’ is—
A. climate B. climated C. climatic D. climactic
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13.
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19.
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Questions 6 to 8 : Which of the following sentence

is correct?

A. The pile of bones on the plate shows how much
chicken the family had ate

B. The pile of bones on the plate shown how much
chicken the family hade ate

C. The pile of bones on the plate showed how much
chicken the family had ate

D. The pile of bones on the plate 1s shown how
much chicken the family had ate

Note: G220 @62 | (T V, o T+t A Beageet C)

A. Neither of those mattresses feel comfortable

B. Neither of those mattresses are feeling comfortable

C. Neither of those mattresses feels comfortable

D. Neither of those mattresses have felt comfortable

A. It 1s more better to stay healthy than to have to

get healthy

B. It is better to stay healthy than to have to get healthy

C. It 1s more better to stay healthy than to have health

D. It 1s better to stay healthy than to have health

Questions 9 to 17 : Fill in the blanks

She reassured me that she the card.

A. had posted B. has posted

C. had been posting D. has posting

I'll be with you in '

A. one quarter of an hour B. a quarter of an hour

C. a quarter of one hour D. a quarter of hour

The party was excellent, and I'd like to thank all

the .

A. concerned people B. responsible people

C. people concerned D. people responsible

A troupe of has gone to entertain the soldiers.

A. artists B. artistes C. artisans D. artificers

The of a camel was found lying by the side

of the canal.

A. corpse B. carcass C.corps  D. corpees

so many people been out of work as today.

A. More than ever before

B. Never betfore have

C. In the past, there never have

D. Formerly, there never were

you have a driver's license and two major

credit cards, that company will not accept your
application.

A.Because B.Unless C. As D. Since

The longer I live here

A. 1 like the more B. the more I like 1t
C. the more do 1 like 1t D. I like it more

There is really no difference between you and —.
Al B. we C. them D. me

Questions 18 to 25 : Choose the correct option

The translation of ‘T3 SItF TS (581 33—

A. I will making him to understand

B. I will try make him understand

C. I will try to make him to understand

D. I will try to make him understand

Indicate the synonym of the words given below :
Hypothetical

A. suspicious B. philosophical

C. assumed D. complete

20.

21.

22,

23.

24,

10.

Assemble

A.unite B.disperse C. separate D. split
Identifv_the one underlined word or phrase
that must be changed in order for the sentence
fo be correct:

Sitara is finallv used to cook on an electric stove
after having a gas one for so long.

A. finally B.cook  C.after having D. one
Professor Chowdhury teaches both anthropology
as well as sociology each fall.

A. teaches B. both
C. anthropology D. each fall
The correct spelling is—

A. Transatory B. Transetory
C. Transitory D. Transitary

The phrase 'In high spirits’' means—

A. tensed B. cheerful

C. worried D. vibrant

The tag for 'He locked the papers in the safe,—?'1s
A. has he? B. haven't he

C. have he? D. hasn't he?

Note: @2 =5 @B |
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